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Topic:- Child Development & Pedagogy (CDP)

1) According to the theory of cognitive development, the concrete operational
stage starts at age .| gAEeRS e & Rguia F IeeR, 7d wfhareas
ey 37 & & gt B

1.5
2.1
3.3
4.7

Correct Answer :-

. 7

2) Which is vast in scope? / faFT # & Fla-a1 F1F 87 & A9F 82
1. Teaching Strategy / Tr&7o1 IoT=Tfar

2. Teaching Tactic / 1&o1 gich

3. Teaching Technique / TRU&T0T ddeid

4. Teaching Method / fr&toT fafer

Correct Answer :-

. Teaching Strategy / fr&tor IorEiifa

3) IEP is the major form of instruction. / 3T$S4Y 317:@?1' ®T 97T T gl
1. peer-tutoring / TEhaT TA&TH

2. Individualized / daTheped

3. Identification / UgdTlel



4. Assessment / Theldd

Correct Answer :-

« Individualized / dTThepc

4) What is the term used to denote the rules involved in putting a sentence together? / Jr&g HY
TF WY @ A wiEAfad AgAr # Al F@ F o e g w1 3w e s
&

1. Telegraph | <AUTH

2. Morpheme / ®UH

3. Syntax / AT - fa=arg

4. Nested structure / A¥C3 TITAT

Correct Answer :-

. Syntax / dATFT - Td=TTH

5) X-ray radiation is attributed as the main cause of disorder. / TaFg-Y fafaor Hi
AR & 77 FRT & w7 7 iR et Srar 2|

1. Mongolism / HAlemforsa

2. Cretinism / SlaTa

3. Hydroephalus / STerefg

4, Microcephaly / ﬂ'q?m

Correct Answer :-

+ Microcephaly / ?—l’g?ﬁ'ﬁ?ﬂ

6) Motivation is a state. / A0 TSH Rufa g1
1. Psychological / Fld<TcIh

2. Physical / #ifd®

3. Natural/ UTpfdep
4. Broken / @fsd



Correct Answer :-

« Psychological / A<D

7) Causes for learning disability is: / 383 3F&THAT FT FROT gdT e
1. Premature birth / FHT F qd e

2. Malaria / FRAT

3. Class room environment / <h&IT &Pl Hl'e’?fﬁ

4. Developmental problems / fasa ddtl TR

Correct Answer :-

« Developmental problems / fd®r Faeh Ty

8) Which of the following is not a characteristic of authoritarian parenting? / frafaf@a &
¥ Fla-a1 FRTEFa) qreA-awor Hr fvar @ g2

1. Highly punitive / 3caidd &3Tcdd
2. Rigid / ®aR
3. Demanding of obedience / 3TTRITRTIRAT T HTIT

4. Provision of explanations for punishments / TSIl & folT TTEIRIOT I YTaT

Correct Answer :-

« Provision of explanations for punishments / TSIl & folT TAEIAIOT HI YraUTA

9) Which of the following is not a type of long-term memory? / T 7 @ Fla-d & R
& drd-wifas Tfa 7@ 82

1. Procedural memory / UfehaTcH® 1-?‘[%
2. Episodic memory / U T3Teh Efd

3. Semantic memory / 31T Fo‘{%

4. Echoic memory / Ufaeafad Hfa

Correct Answer :-

« Echoic memory / Ufdtafad &xfa



10) Which of the following is not a substage of Piaget’s sensorimotor stage? / ffR@a & &
FIA-9T IS & sfegaafad HF 3aTyT ' 3UNTEAT T4 &2

1. Secondary circular reaction / JT0T g 3-]73’1%5’3”
2. Reflex activity / Hgol AT

3. Primary circular reaction / UTUfA® GRIR| Haﬁ"TCIT
4. Seriation / ShHAIGT

Correct Answer :-
e Seriation / shHTGAl

11) Identify the qualitative change in child development from the following list. / fFafaf@d '\‘Eﬁ qa
o e & qoncAs aRade #r ggE )

1. Weight / avid
2. Sight/ ¥
3. Hair / dTel

4, Teeth / &id

Correct Answer :-

+ Sight/ T®

12) An aptitude test measures a child’s ./ T&F JIAT q&Tor TH qTd F Y AT B
1. Knowledge gained over the years / t[)\' ay¥ 3 gt A

2. Skills needed to solve problems / FFEITIT Pl & I &b [olT HTATS I

3. Skills of critical thinking / ATelldTcH® T &I GORIC]

4. Innate ability to do certain tasks / P& FHIAT DI B HT &THAAT

Correct Answer :-
* Innate ability to do certain tasks / P& HIAT DI B HT &THAAT

13) An effective way to combat stress in learners is by: / et & e @ Auead &1 v g
ader §



1. establishing routine / ﬁ?ﬁﬂﬁ TATT BT
2. postponing all large tests for end of the year. / T 3 UI&T0T & a9 & 37T & forw TARNT AT
3. making strict rules / T&d AT qaTAT

4. giving them the freedom to work whenever they want. / 3e¢ STd dTe lH dad I JTSAET &

Correct Answer :-

« establishing routine / feaToraT TATAT T

14) Which experiment had shown that phobia could be created by classical conditioning? / & w3l &
gar Iar § 6 Fenflea SRl garr wifer der fFFar s wwar 82

1. Dynamical systems / 3Tfaiefrer goTrelt

2. Egocentrism/ 3Tgdhgarg (SMATegad)

3. Little Albert/ fafee 3reac

4. Epistemology/ STAHANT (TRAHCHTITST)

Correct Answer :-

o Little Albert/ fofesr 3eae

15) The child is able to lift its head first before it is able to crawl. This is because of the operation of: /
gHle & T ¥ g godT H9T fAT 3o H WaTH glar g1 ¥ AT & HIAIET & FROT {ev 8

1. Differentiation principle / HgHTa g

2. Integration principle / ThreroT TAgicd

3. Cephalocaudal principle / @hallhsd g

4. Proximodistal principle / UTFEAISEee [Agid

Correct Answer :-

« Cephalocaudal principle / Ahelihsel TAgid

16) The children will learn through as per Vygotsky’s theory. / agailcas & gy &
AR T & ATEIH ¥ AHAAH FA|

1. by observing / & &

2. reading & writing / UG 3T forgey

3. society / HHATS



4. through books / J&dh & ATETHA

Correct Answer :-
 society / HHATST

17) The intellectual disability resulting from Phenylketonuria can be minimized through: /

FellaFeRAT ¥ cveet Slefs RAFamrar #F Fgaan Far o wFar
1. Social interaction / ETHTSIh TUH

2. Classroom teaching / @& fRreor

3. Environmental factors / JITaRUNT $HRE

4. Progressive education / gaTfaefer fram

Correct Answer :-
« Environmental factors / GATaIoNT Hh

18) When tests are given at the end of the semester, it is known as: / SI¥ ¥R¥TeT & Id # gdiaror e s
g, A 3@ S e §:

1. Summative Assessment / HRIFAIA 3Tehctel
2. Diagnostic Assessment / =Glicieh 3ol

3. Interim Assessment / 3dR#A 3MTehold

4, Formative Assessment / JdedlcHD Theld

Correct Answer :-
o Summative Assessment / TRIFAT 3TTeholad

19) When developmentalists study common changes that is typical to all humans, it is known as )

o FasTHaTe) WA aREdel F1 IeqaqT FId ¢, S weft wepeat & fow fafse 3, avsad FEH
STTAT STt 81

1. Normative development / e fae™

2. Ideographic development / ATIHID (3msfEataftee) e
3. Informal development / AT faepra

4. Formative development / 3iTqamiRes faera

Correct Answer :-



« Normative development / FcsTd® g

20) Inclusive education aims to eliminate and ensure that all children get their right to get
educated. / FATaRf R80T T 3T H FATCA FAT AR T GlaRaa e g & wah
I1 F Ia& AT 1 F1 3 RAFR wreaT 3

1. Inequality / IHHATAAT

2. Challenge / ?:l?-ﬁ?-ﬁ

3. Problem / HET

4. Differences / 3R

Correct Answer :-
« Inequality / IHHATAAT

21) According to Orlich et al.(1985), which strategy fosters scientific thinking and the
enhancement of student problem-solving skills? 3{Rferd Te 3(e. (1985) & AR, HIH-H
OIS A W iR B & JUWT &1 Yas & HINE &) JeTdl 82

1. Writing strategy/ of@el I0TATTCI
2. Oral discussion strategy/ & Tt AT IO
3. Task card strategy/ P 1S AT

4. Visualization strategy/ £F I0TATTl

Correct Answer :-

e Oral discussion strategy/ AfTd ==t fir wEfa

22) encompasses the idea of learning as an active process where those learning
are able to form new idea based on what their current knowledge is as well as their past

knowledge. / U Afepy ufthar & =u § Afe & faarR & gwifed &var 8 w6l 3 Wi
I U TFA FH & F1Y-T1Y 394 s 19 & SMYR IR ¢ fIaR 999 & 9&4 81 &1

1. John Dewey’s theory on constructivism / fSavTae W Sia 38 a1 Riga

2. Lev Vygotsky’s theory on constructivism / f¥aAT0TaG WX oid asaiicadr & bgid
3. Jean Piaget’s theory on constructivism / AT | S e & Rga

4. Jerome Bruner’s theory on constructivism / FHATOTaG W SR1A Sl ol gt

Correct Answer :-



« Jerome Bruner’s theory on constructivism / f#ToTarg UX SRIA SR 1 FgTd

23) Educating special children along with the typically developing children in the regular

schools is ./ Fraftra faeneat # oma dR R fereia a= & Jry-ary IRy s &1 Riféa
AT gl

1. Individualized Education / Safaavid fRrem
2. Normal Education / 91T fveqr

3. Special Education / T freTr

4. Inclusive Education / TATIA Trer

Correct Answer :-
« Inclusive Education / GATIM et

24) Which of the following is unsuitable for a kinesthetic learner? / fAgfefaa # @ #19-91 T
nferiad) siftrmaeaf & fore srguge 82

1. Providing them with opportunities to learn through activities. / 3¢ A TATAAT & ATCTH T
3TTAIMH BT AT UGT hAT|

2. Participation in field trips, drama, dance etc. / 8T HHUT, ATCh, FLFJ}]T%?T HTIT ST |

3. Using concept mapping method for teaching. / 3ITA9TH & fIT 31@UROT ATARIFOT Ugfa
SUYIIT AT |

4. Using problem solving method for teaching. / FR1&m0T & forg T=ar THTem fafer 1 IuahT &A1

Correct Answer :-

« Using concept mapping method for teaching. / 31TQ9T & ToIT 3TTURUT ATARIFUT UgTd &1
ST HLAT|

25) Which of the following is not affected by socioeconomic status? / RF=ifaf@a & ¥ wla-ar aG*®
nfdw Rufa & wsnfaa 7t sare?

1. Choice of neighbourhood / usiy fr udg
2. Quality of schooling / Fell e &r IOTA
3. Gender / foIaT

4, Nutrition / GI¥OT



Correct Answer :-

« Gender / ToIdT

26) Which of the following is not a characteristic of explicit memory? / fAFafaf@a & ¥ Fia-1dy Tuse

Tt @ Rewar @t ¥

1. Unconscious / 3=d

2. Intentional / gfaamia

3. Awareness / SITITRDAI

4, Recollection / THIOT ATh

Correct Answer :-

« Unconscious / 3=

27) Theory of connectionism was proposed by: / HaIsI-dIG HT RIgid s §RT UXAIfad fHbar
g7 YT:

1. Skinner / FEhaX
2. Tolman / eTeldAd
3. Pavlov / OTdeld
4, Thorndike / M2k

Correct Answer :-

« Thorndike / MAfSh

28) Children can recognize themselves as whether they are a boy or a girl, at the age of

./ Tt g A T WE B UG 9Pd & [P 9 TSHI 8 a1 asdl|

1. Five years / FIG RG]

2. Four years / IR a¥
3. Three years / diel ag
4. Six years / B& GL

Correct Answer :-

« Three years / didf a¥



29) Who discovered classical conditioning which is a learning process governed by associations
between an environmental stimulus and another stimulus which occurs naturally? / &

FATfAFa FIRfAT H @ i I TF TAGONT 3A91 HR TF 37 a9 F T
AT @Rt Faifad we 3R i ufkar § O Fannfds v @ ad @

1. Edward Thorndike / Tsds AsISh
2. Ivan Pavlov / a1 Uideild

3. Wolfgang Kohler / alehdlaT digek
4. Jean Piaget / St Toama

Correct Answer :-

o Ivan Pavlov / 3aid dradlia

30) Attention is the process of consciously focusing on a .| AU (LT) §9d & &
W a9 Hfga w i ufkar g

1. Behavior / <IdgR
2. Stimulus / ﬁ'q?l'

3. Body language / #Td H3raT
4. Reaction / Ffaferar

Correct Answer :-

e Stimulus / 359I

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:

Which profess-- will you join after complet-- your studies?

1. --ing ... --ion
2. --ion ... --ing
3.--or..--ion
4, -- orial ... —-ely

Correct Answer :-

e —-jon...--ing



2) Fillin the blank with the correct option in the given sentence:
A group of five persons or things is a --tet.

1. quadr --

2. sex --

3. quin--

4. octa --

Correct Answer :-

3) Read the passage carefully and answer the question given below:

Did you know that there are 20,000 leagues under the sea? And have you heard of the squid? The squid is a relative of the snail but
unlike snails, it has no shell. The head of the squid is small and is surrounded by eight arms and two long tentacles with two fins at the
tail end. The two tentacles are used to capture prey while the other eight are used to transfer food into the mouth. The undersurface of
the tentacles has rows of suckers which help the squid grasp objects. The squid has a horny pen inside the body that discharges an ink
like fluid into the water. The inky fluid shot out in self defense confuses the enemy and dulls its sense of smell. Squids range in size from
1.5 cm to 20 cm including tentacles. It is the largest animal without a backbone. It is found in North Scandinavia, North America,
Poland, and Canada. Squids have colourful pigments. They use their colour as a camouflage for self-defense.

How deep is the sea supposed to be?
1. 20,000 leagues
2. 25,000 leagues
3. 15,000 leagues

4. 10,000 leagues

Correct Answer :-

® 20,000 leagues

4) Read the passage carefully and answer the question given below:

Did you know that there are 20,000 leagues under the sea? And have you heard of the squid? The squid is a relative of the snail but
unlike snails, it has no shell. The head of the squid is small and is surrounded by eight arms and two long tentacles with two fins at the
tail end. The two tentacles are used to capture prey while the other eight are used to transfer food into the mouth. The undersurface of
the tentacles has rows of suckers which help the squid grasp objects. The squid has a horny pen inside the body that discharges an ink
like fluid into the water. The inky fluid shot out in self defense confuses the enemy and dulls its sense of smell. Squids range in size from
1.5 cm to 20 cm including tentacles. It is the largest animal without a backbone. It is found in North Scandinavia, North America,
Poland, and Canada. Squids have colourful pigments. They use their colour as a camouflage for self-defense.



How is the squid different from a snail?
1. It moves faster.

2. Tt looks like an octopus.

3. It lives in the sea.

4, Tt has no shell.

Correct Answer :-

e [t has no shell.

5) Read the passage carefully and answer the question given below:

Did you know that there are 20,000 leagues under the sea? And have you heard of the squid? The squid is a relative of the snail but
unlike snails, it has no shell. The head of the squid is small and is surrounded by eight arms and two long tentacles with two fins at the
tail end. The two tentacles are used to capture prey while the other eight are used to transfer food into the mouth. The undersurface of
the tentacles has rows of suckers which help the squid grasp objects. The squid has a horny pen inside the body that discharges an ink
like fluid into the water. The inky fluid shot out in self defense confuses the enemy and dulls its sense of smell. Squids range in size from
1.5 cm to 20 cm including tentacles. It is the largest animal without a backbone. It is found in North Scandinavia, North America,
Poland, and Canada. Squids have colourful pigments. They use their colour as a camouflage for self-defense.

According to the passage, squids range in size from:
1. 1.5cmto20cm
2. 4.5cmto 30 cm
3. 2.0cmto 30 cm

4. 3cmto 25 cm

Correct Answer :-

e 1.5cmto20cm

6) Read the passage carefully and answer the question given below:

Did you know that there are 20,000 leagues under the sea? And have you heard of the squid? The squid is a relative of the snail but
unlike snails, it has no shell. The head of the squid is small and is surrounded by eight arms and two long tentacles with two fins at the
tail end. The two tentacles are used to capture prey while the other eight are used to transfer food into the mouth. The undersurface of
the tentacles has rows of suckers which help the squid grasp objects. The squid has a horny pen inside the body that discharges an ink
like fluid into the water. The inky fluid shot out in self defense confuses the enemy and dulls its sense of smell. Squids range in size from
1.5 cm to 20 cm including tentacles. It is the largest animal without a backbone. It is found in North Scandinavia, North America,
Poland, and Canada. Squids have colourful pigments. They use their colour as a camouflage for self-defense.



Which animal is the squid related to?
1. Shellfish
2. Jellyfish
3. Lobster

4. Snail

Correct Answer :-

®  Snail

7) Read the passage carefully and answer the question given below it:

The time of which I am now speaking is my sixteenth year. My father, as we have seen, was
bedridden, suffering from fistula. My mother, an old servant of the house, and I were his principal
attendants. I had the duty of a nurse, which mainly consisted in dressing the wound, giving my
father his medicine, and compounding drugs whenever they had to be made up at home. Every night
I massaged his legs and retired only when he asked me to do so or after he had fallen asleep. I loved
to do this service. I do not remember ever having neglected it. All the time at my disposal, after the
performance of the daily duties, was divided between school and attending my father. I would only
go out for an evening walk either when he permitted me or when he was feeling well.

Which of the following statements is not true according to the passage?

1. The narrator went for a stroll only when the father was feeling well.

2. The narrator found it cumbersome to attend to his father’s iliness.

3. The mother and an old servant of the house assisted the narrator while tending to the father.

4. None of the above

Correct Answer :-

e The narrator found it cumbersome to attend to his father’s illness.

8) Read the passage carefully and answer the question given below it:

The time of which I am now speaking is my sixteenth year. My father, as we have seen, was
bedridden, suffering from fistula. My mother, an old servant of the house, and I were his principal
attendants. I had the duty of a nurse, which mainly consisted in dressing the wound, giving my
father his medicine, and compounding drugs whenever they had to be made up at home. Every night
I massaged his legs and retired only when he asked me to do so or after he had fallen asleep. I loved
to do this service. I do not remember ever having neglected it. All the time at my disposal, after the
performance of the daily duties, was divided between school and attending my father. I would only
go out for an evening walk either when he permitted me or when he was feeling well.



The passage is an excerpt from a/an
1. biography

2. autobiography

3. sci-fiction

4, non-fiction

Correct Answer :-
e autobiography
9) Read the passage carefully and answer the question given below it:

The time of which I am now speaking is my sixteenth year. My father, as we have seen, was
bedridden, suffering from fistula. My mother, an old servant of the house, and I were his principal
attendants. I had the duty of a nurse, which mainly consisted in dressing the wound, giving my
father his medicine, and compounding drugs whenever they had to be made up at home. Every night
I massaged his legs and retired only when he asked me to do so or after he had fallen asleep. I loved
to do this service. I do not remember ever having neglected it. All the time at my disposal, after the
performance of the daily duties, was divided between school and attending my father. I would only
go out for an evening walk either when he permitted me or when he was feeling well.

How many people attended to the narrator’s father?
1. The narrator, his mother and a servant

2. The narrator only

3. The narrator and his mother only

4. An old servant of the house only

Correct Answer :-
e The narrator, his mother and a servant

10) Choose the appropriate determiner for the given sentence.
of the sweets had been eaten when we arrived.

1. Most

2. Little

3. Every

4. Much

Correct Answer :-



11) Which of the following options best combines the given sentences?

There were no buses or cabs. People walked home.

1. No buses or cabs made the people to be walked home.

2. Because of shortage of buses or cabs, people walked home.

3. Since people walked home because there were no buses and cabs.

4. As there were no buses or cabs, people had to walk home.

Correct Answer :-
* As there were no buses or cabs, people had to walk home.

12) Choose appropriate articles for the given sentence:

__ archeologist is interested in ______ ancient cultures.
1. The...an

2. No article required ... no article required

3. No article required ... an

4. An ... no article required

Correct Answer :-
e An ... no article required
13) Choose appropriate article for the given sentence:
cricket has been a favorite sport in India watched by many fans.
1. No article
2. A
3. The

4. An

Correct Answer :-

e No article



14) Choose appropriate tense for the given sentence:

I teaching for twenty years next February.

1. are
2. have been
3. will have been

4, had been

Correct Answer :-

« will have been

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The fire destroyed countless trees in the forest.

1. Countless trees were destroyed by the forest in the fire.

2. Countless trees in the forest were destroyed by the fire.

3. The fire in the forest had destroyed countless trees.

4. Countless trees destroyed the forest by the fire.

Correct Answer :-

« Countless trees in the forest were destroyed by the fire.

16) Choose the appropriate option that rewrites the given sentence in indirect speech:

The boy said, "I hurt myself.”

1. The boy said that he had hurt himself.
2. The boy said that he had hurt me.

3. The boy said that he hurt himself.

4. The boy told that he has hurt himself.

Correct Answer :-

e The boy said that he had hurt himself.



17) Choose the appropriate synonym for the highlighted word in the given sentence.

Generations of politicians have admired Gandhi ji for his non-violence.
1. condemned

2. idolized

3. approved

4, credited

Correct Answer :-
e idolized

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

Ifyou_  hurry up, you the train.
1. won't... will be missing

2. don't... will miss

3. didn’t... will have missed

4. aren’t... missing

Correct Answer :-
e don't... will miss

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Tiger Woods was sometimes prevented from playing golf.
1. persuaded

2. checked

3. facilitated

4. precluded

Correct Answer :-

o facilitated



20) Choose the appropriate conjunction for the given sentence.
I was not well on Friday, I went to school.

1. but

2. s0

3. for

4. yet

Correct Answer :-

21) Choose the appropriate preposition for the given sentence:
Celebrations are very important __ any society.

1. to

2. from

3. into

4, for

Correct Answer :-

o for

22) Choose an appropriate modal for the given sentence:

My father be returning from Delhi by tomorrow evening.

1. would
2. ought
3. might

4. can

Correct Answer :-

23) Choose the option that best explains the highlighted expression:



I just cannot get my head around what’s happened. It's been such a shock.
1. come to terms with

2. confused with something

3. unable to understand

4. escape from the issues

Correct Answer :-

e come to terms with

24) Choose the most suitable pronoun for the given sentence:

She lives all by in that big house.

1. oneself
2. myself
3. himself

4, herself

Correct Answer :-

e herself

25) Read the sentence carefully and choose the option that has an error in it:

Everything that was shipped by us were in excellent saleable condition.
1. were in excellent

2. saleable condition.

3. Everything that was shipped by us

4. No error

Correct Answer :-

e were in excellent

26) Choose the option that substitutes the given phrase appropriately.

Feeling of deep anxiety or dread



1. Stress
2. Angst
3. Worrisome

4, Perturb

Correct Answer :-

27) Choose the right tag:

Manoj will marry her, ?
1.isn't he

2. won't he

3. won't she

4. will he

Correct Answer :-

e« won't he

28) Choose the right tag:

Nikita found barely anything to eat, ?
1. doesn’t she

2. didn’t she

3. does she

4, did she

Correct Answer :-

e did she

29) Read the passage carefully and answer the question given below it:

The time of which I am now speaking is my sixteenth year. My father, as we have seen, was
bedridden, suffering from fistula. My mother, an old servant of the house, and I were his principal
attendants. I had the duty of a nurse, which mainly consisted in dressing the wound, giving my



father his medicine, and compounding drugs whenever they had to be made up at home. Every night
I massaged his legs and retired only when he asked me to do so or after he had fallen asleep. I loved
to do this service. I do not remember ever having neglected it. All the time at my disposal, after the
performance of the daily duties, was divided between school and attending my father. I would only
go out for an evening walk either when he permitted me or when he was feeling well.

According to the passage, what ailed the narrator’s father?
1. He was bedridden

2. He was suffering from a cardiac condition

3. He had a bowel abnormality

4. He was very old

Correct Answer :-

e He had a bowel abnormality

30) Rewrite the following changing the active sentence to passive.
Children broke the windscreen when they were playing cricket.

1. The windscreen was broken by the children when they were playing cricket.

2. The windscreen was being broken by the children when they were playing cricket.
3. The windscreen was be broken by the children when they were playing cricket.

4. The windscreen broke by the children when they were playing cricket.

Correct Answer :-

« The windscreen was broken by the children when they were playing cricket.

Topic:- General Hindi(L2GH)

1) <Idd UTg 9 HE, Iy § SifHHH |
ud od fe it @1, 318 I8d g 11
31 A ¥ figm, foraa o & o i |
WS 997 g™, faqg wad 1 FS 1
o MR SR, 3R 98 99 v died |
urgH it femr =l ga wadt & Srea 1
T Med Ggd R, Mg T ag A5 |
S ST Pifrel, g & 99 D 1



g G TG I, Hifpar de Jgra |
3I% B TP WM, ST A HT 37UTa |1
Fg MR FfaR™, AN SR AT & |
R R TN, GEaRMEP T[S |
famT foame =it v, 91 1 uoar |

HTH IR ST, ST g g 1|

S H gl g, R A A9 T U |

WM U A, IR-3T J4E | 11
o8 IR ofRm, g@ g AR |
Weod g fora wifg, fasa ot fomm fammy 11
I UL 61 UgH -9 U T UY BT IR qaIgd:
U - "TES’ f5H eg FT =1 ¥ 82
1. dTeeh

2. TS

3.9
4. I

Correct Answer :-

2) Ed UTd 7 BT, T F S |
g9 o fe=1 Tl 31, 31 g e 11
313 7 ¥gd feM, fora o1 # o9 it |
WS geq g, faa gadt S FiS 11
Fg MR R, 3R I5 |9 ve diad |
urgA FAf¥ fg IRy, vea wag & diea 11
T & M Jg9 R, g Eag a9 |
S ST PP, g & TG DY 1|
Teg YA 9 H1, FHifpar Ja Jgra |
3% B TP WM, SR HG HT 391G |1
$g AR SR, g g o 7 & |
AR TP, AR [ S 1|



fom foaR =it &, &t ! voan |

HTH IR ST, S g g 1|

ST A g g9, R AT T U |

W U FHM, IR-3T T4 | 1
Fg AR SfRm, gE o AR |
Wewd § forg wifg, fwar it famm fmm 11
ST U B UgHR -1 TS T UY HT 30X qargd:
W= - o ® 39 e A e 22

1. fhEY @Y g & W

2.PIT F W[ W edd W

3. IS P el TASTA W

4, 941 TR & a W

Correct Answer :-

3) SIed UTg 7 BIE, §u= § SFHM |
99 o fe=1 91k 31, 313 g g™ 11
313 1 ¥gd feM, Rraa o1 & s i |
WS g7 g, faqg wadt @ F 1
Fg IR HfaRm, 3R 9 ¥e ¥e diad |
urg= ARy e =l <ga aadt & aa 1
& Med He8 R, R AR T30 |
S ST Pifrar, Weg & 99 D 1
g G TG I, Hifpar 9e Jgra |
3I% ®1 TP WM, ST HG HT 37UTa |1
$g MR FfaR™, AN SR AT & |
AT @AY, I RIS [F 1
fom foame =it v, 91 0 uoar |

HTH IR ST, ST g g 1|

S H gl g9, R A A9 T U |

@ U ITHH, IET-3JT JE U1 11



$g MR SfRM, g PO RAACR |

Weod g fora wifg, fasat ot fomm fammy 11

I UL ®) UgH -9 U Y UY BT IR qarsd:
WA - Uil § oF & ga- fead a1 715 82

1. IS AS

2. Il el

3.9R &

4 qq

Correct Answer :-

o TI I

4) drad U 7 SR, Ju= | | |

Tgd o fe=1 Tl 31, 31 g4 e 11

313 7 ¥gd feM, foraa o1 # o9 i |

S geq g, faa gadt 3 FiS 11

Fg MR R, 3R I8 99 ve diad |

urgH ¥ fam =R, Tga wad & drea 1

T & TP Jg9 R, g Eag a9 |

S ST PP, Weg & TG DY 1|

g A TS B, Hifhar W Jera |

3% B TP WM, SR HG HT 37919 |1

Fg MR SR, FN A TP TS |

P AR AP, E RIS [ F 1|

fom foaR =it 3, & ! voan |

HTH IR ST, ST g g 1|

ST A g g9, R AT U |

W U A, IR-3T T4 | 1

Fg AR SfRm, gE o RATTR |

Wewd § forg wifg, fat it famm w1

ST U B UgHR -1 T T UY HT 30X qarg:
U= - TR & AR JURT I IR AT R T8 ST F1fge?



1. PITl FIP! AT &l
2. 701 & HROT|
3. S IR e &1 §

4, PrH TS ST B

Correct Answer :-

o Sfiaa IR g & B

5) <dd U 7 HIE, g # AT |
ud od fe =it 1, 313 38d g 11
313 1 ¥gd feM, fora o1 A o i |
MY aeq g, faa gadt S F19 11
g MR ®fRm, of ¥g ¥e ve dieq |
urgH ¥ fer =l Tga wadt & drea 1
T & Med Ggd R, Mg ag A5 |
S ST Hifpar, Weg & T DI 1|

e G T D1, HHfper 9 Jgra |
S B TP W, T Jd YT UG ||
Fg AR SfiRm, g g o 79 & |
P AR T, RIS [F 11
fom famme =it v, 1 1 uoar |

HTH IR ST, ST g g 1|

S H g g9, R A A9 T Umd |

@ U G4, IR-JT H/AG WIS 11
$g MR HfRm, g o RAACR |
Wewd § forg wifE, far it famm fmm 1
ST LT Bl UgHR -4 TR Y UY BT IR Jarsd:
U - Ui ¥ SUR o § fraat g i @ 2
1. 3 {9 fIaR A A B

2.3 FAT & HAT B

3. 31 fpaae IR ST &

4. 31 9gd 3RS HEdr Bl




Correct Answer :-

o S foar R #re Har B

6) SIed UTg 7 BIY, FU= F S |
I o fe=1 91k 31, 313 g4 g 11
313 A Y54 faM, forad o & o9 it |
WS ge= A, faa gadt St Fi 11
Fg IR HfaRm, 3R 9 ¥e ge diad |
urg fAf¥ fe a1, Yea e & daa 11
T & MEP W R, R ag T3 |
S ST Pifra, Weg & WG D |

et Y1 99 1Y, Pifpar IS Jgra |
3I% ®1 TP WM, SR HG HT 37919 |1
$g MR HfR™, G S ST S |
R AeN, GG RMEF[F ||
e AR it v, & 9 voan |

HTH IR ST, ST g g 1|

S H gl s, R A AT T U |

W U A, IR-3T J4E | 1
F5 MNR R, gE P AT |
Wewd ¢ g wifE, fsa st famm fammy 11
S Ui B UgH 19 U T UY BT IR JaIgd:
WA - TRl & A 9 @8 7w ufd o e e’ &1 @ o @2
L. g

2. ¢

3. 8

4. ofel

Correct Answer :-



7) SIEd UTg 7 BIE, §u= § S |
I o fe=1 91k 31, 313 g g™ 11
313 7 ¥gd feM, Rraa o A s i |
WS g9 A, famg wad St B 1
Fg IR HfaRm, 3R 9 ¥e ¥e diad |
urgA FAf¥ g R, Yea et & diea 11
TH & TP WeW R, Rg A ag A% |
S ST Pifrar, Weg & 99 D 1

g G TG I, Hifpar 9a Jgra |
3I% B TP WM, ST A HT 37UTa |1
Fg MR FfaR™, A SR AT & |
RPN, TEaRMEP T[S I
fomT foame =it v, 91 1 uoar |

HTH IR ST, S g g9 1|

S H gl s, R A A9 T U |

WM U A, IR-3T 748 |G 11
$g MR HfRM, g PO RAACR |
Weod g fora wifg, fasat ot famm fammy 11
I UL ®) UgH -4 U T UY BT IR qarsd:
W - Ui § MY I’ FT HiAdl & $ & TR 34 82
1. R

2. geaT

3. ¥UE

4. ACHI

Correct Answer :-

« MR

8) dted Uty 9 HIfE, Iua § SfHw |
T9d o fe=1 Tl 31, 313 g e 11
313 7 g4 e, foraa w1 & v i |
S geq A, faa gadt S FiS 11



Fg MR R, 3R I8 99 ve diad |

urgH ¥ fom =R, Tga wad & drea 1

T & TP Jg9 R, g Eag a9 |

S ST PP, g & TT DI 1|

g A TS B, Hifhar ¥ Jera |

3% B TP WM, SR HG HY 37919 |1

$g AR SR, g g o 7 & |

P AR Ao, AR [ F 1|

fom foaR =it 3, & ! voan |

HTH IR ST, ST g g 1|

ST A g g9, R AT T U |

@ U A, IR-3T T4 | 1

Fg AR SfRm, gE o AR |

Wewd § forg wifg, fat it famm w11

Iued U= ) Ugehs 19 U T UY HT IR Id133:
WA - IR § 1Y “ford o § 5 oot # o 31 o o 82
1. 7er

2. 31fAh

3. §8

4, STEd

Correct Answer :-

o T

9) gIad Uy = HIIE, AU # THAT |
99 o fe=1 91k 31, 313 g4 g™ 11
313 7 Ygd e, R o & o9 i |
WS g9 [, faa wad St B 1
Fg IR HfaRm, 3R 9 e ge diad |
urg= ARy e =l <ga aadt & aa 1
T Med Ggd R, Mg A ag A5 |
S ST Pifrar, Weg & 99 D 1



g G TG I, Hifpar da Jgra |

3I% ®1 TP WM, ST HG HT 37UTa |1

Fg MR FfaR™, A SR AT S |

AP aR TN, IEa R M T[S |

fom foame =it v, 91 1 uoar |

HTH IR ST, ST g g 1|

S H gl s, R A A9 T U |

WM U A, IR-3T J4E | 1

$g MR SR, g PO RAACR |

Weod g fora wifg, fasat ot fomm fammy 11

ST UL ®) UgH -9 U Y UY BT IR qarsd:
UL - BT fFY TSR & ao9 1 & 7T $g 36122
1@

2. S

3. STediel
4, g3

Correct Answer :-

10) Sad TR T PTG, oA | HFHTT |
T9d o fe=1 Tl 31, 31 g4 e 11
313 7 ¥gd feM, fora o1 d o9 i |
S geq A, faa gadt 3 FiS 11
Fg MR R, 3R I8 99 ve diad |
urgH ¥ fam =R, Tga wad & drea 11
T & TP Jg9 R, g Eag a9 |
S ST PP, Weg & TI DY 1|

g A TS B, Hifhar W Jera |
3% B TP WM, SR HG HT 391G |1
$g AR SfRm, g g o 79 & |
AP AR AP, AR [ F 1|



fom foaR =it &, & ! voan |

HTH IR ST, ST g g 1|

ST A g g9, R AT T U |

W U A, IR-3T T4 | 1

Fg AR SfRm, gE o RAACTR |

Wewd § forg wifg, fat it famm fmm 11

ST U B UgHR -1 T T UY HT 30X qargd:
U= - Bfd & AR U B U & d1¢ $F YA ] BT ATy ?
LA

2. el Y AT

3. 931 & FHAA

4, fagEr & A

Correct Answer :-

o HT o G

11) <iad U 9 FIE, Gy § AT |
99 o fe=1 91k 31, 313 g g™ 11
313 7 Ygd e, Rra o & o i |
WS g7 g, faqg wadt @ F 1
Fg IR HfaRm, 3R 9 ¥e ¥e diad |
urg= ARy e =l <ga aadt & aa 1
& Med He8 R, R AR T30 |
S ST Pifrar, Weg & 99 D 1

g G TG I, Hifpar 9e Jgra |
3I% ®1 TP WM, ST HG HT 37UTa |1
$g MR FfaR™, AN SR AT & |
AT @AY, I RIS [F 1
fom foame =it v, 91 0 uoar |

HTH IR ST, ST g g 1|

S H gl g9, R A A9 T U |

@ U ITHH, IET-3JT JE U1 11



$g MR SfRM, g PO RAACR |

Weod g fora wifg, fasat ot fomm fammy 11

I UL ®) UgH -9 U Y UY BT IR qarsd:
T - B F TR 59 & Ued e 72
1.56T &

2. TO9RT &

3. 701 &

4. AT &

Correct Answer :-

12) grad Ura = I, oA | T |

Tgd o fe=1 Tl 31, 31 g4 e 11

313 7 ¥gd feM, foraa o1 # o9 i |

S geq g, faa gadt 3 FiS 11

Fg MR R, 3R I8 99 ve diad |

urgH ¥ fam =R, Tga wad & drea 1

T & TP Jg9 R, g Eag a9 |

S ST PP, Weg & TG DY 1|

g A TS B, Hifhar W Jera |

3% B TP WM, SR HG HT 37919 |1

$g AR SfRm, g g o 7 & |

P AR AP, E RIS [ F 1|

fom foaR =it 3, & ! voan |

HTH IR ST, ST g g 1|

ST A g g9, R AT U |

W U A, IR-3T T4 | 1

Fg AR SfRm, gE o RAATR |

Wewd § forg wifg, fat it famm w1

Iued U= ) Ugeh? 19 U T UY HT IR Id133:
TR - U UfRial & SR Hiad B ¥4 o1 B, St g F A8 @2



1. A arofr
2.9
3. gled

4., Tl LT

Correct Answer :-

13) ad Ui 7 P, Iua # S |
ud od fe =it 1, 313 38d g 11
313 1 ¥gd feM, fora o1 A o i |
MY aeq g, faa gadt S F19 11
g MR ®fRm, of ¥g ¥e ve dieq |
urgH ¥ fer =l Tga wadt & drea 1
T & Med Ggd R, Mg ag A5 |
S ST Hifpar, Weg & T DI 1|

e G T D1, HHfper 9 Jgra |
S B TP W, T Jd YT UG ||
o8 IR SfaRma, g S o & |
P AR T, RIS [F 11
fom famme =it v, 1 1 uoar |

HTH IR ST, ST g g 1|

S H g g9, R A A9 T Umd |

@ U G4, IR-JT H/AG WIS 11
$g MR SfRm, gE@ PO RAACR |
Wewd § forg wifE, far it famm fmm 1
ST LT Bl UgHR -4 TR Y UY BT IR Jarsd:
WA - Y1 DI 99 oI 91 BT 19T 52
1. FITh I% Teh TATT W A& L&l
2. FIfh g ST I8l ST b

3. Fifeh SEehI AT Bl B

4. FifPp I8 O BT B



Correct Answer :-

. FIIfF a8 TFH TAT W A& T&dTl

14) gad Ura T ST, U & AU |
I o fe=1 91k 31, 313 g4 g 11
313 A Y54 faM, forad o & o9 it |
WS ge= A, faa gadt St Fi 11
Fg IR HfaRm, 3R 9 ¥e ge diad |
urg fAf¥ fe a1, Yea e & daa 11
T & e Jg9 R, g @ ag a1 |
S ST Pifra, Weg & WG D |

et Y1 99 1Y, Pifpar IS Jgra |
3I% ®1 TP WM, SR HG HT 37919 |1
$g MR HfR™, G S ST S |
AP AR AP, WE RIS [ F 1|
e AR it v, & 9 voan |

HTH IR ST, ST g g 1|

S H gl s, R A AT T U |

W U A, IR-3T J4E | 1
F5 MNR R, gE P AT |
Wewd ¢ g wifE, fsa st famm fammy 11
S Ui B UgH 19 U T UY BT IR JaIgd:
W= - "o wadl F1 S w1 o 32
1. [0 | @ o ol

2. 70T & & & edn|

3. 79 @ |G PIHA U

4. G TITqqdD eFagr BT
Correct Answer :-

. 98 fAaaqds cgaer Hifaw|



15) FAAT IfE TTHT AT & HF goar IR IR §, @ & g el sqar ad aedn a8
m#mammmmﬁml(mmg)wmwmﬁrﬁmw g &
mwmlmgmlwﬁaam dle =@, W Segolld $1 HATHAT ¥ AN AR ¥ A=
mﬁﬁﬁ-aﬁﬁmﬁ'ﬂﬂﬁl (Rgaa & gedl 8)

(f3= 1 37aA9 H1T § YAA| FHAAT T H g H o ?)

fads: sga = gv, o9 At FeT o1 F HE-AEN a9 TEE w4 Al A Fer o1 fF qerer § AR A anrer @
AN (AEHT) FTHAT, HTET AN qareh w3, ﬂfr?ﬂzfrarr-w g atr gait i fiae s 7 e =

(F1re glsa e @ Rve s 8)

et #fe AR Taof & Z@rT g7 Ael A FdT Wt B gie g8, WK §F & AF-EE B T FER
FITUT o VST H FTAROT | R ARSI, AT F g, Al B Ao g A ¥ 7 A qw
HAT &3 F WHAG R FHET 93| FA, §H qI qFER 91T g

fem: wso=ll AfSh g ol &, @r ¥ F gF A GU-ARE F N T? 77 st T A ¥

s @ a1 3k Ao & @M AI Fer A FEAI 3H e feg ik Rearen A sfdean, far sk g,
$et 3R Gite, Fad vF # A Ao A gEe T o7 e ¥, A worar ¢ RAywrar F1 Bwwy ggeeg|
aq faar gEreR 3R FaT F FAT HoAT? A FT FA A AC| GYAT F A g IAT| ATsqam HY & F
faT, arerdt gl &1 goe Fa F AT ToT A IFTAROT § AS; W IHA HF A GEAAT FAT et
aﬁcﬁlmmuaﬁmm 9 98 39T Sfdcad FH FL- SAAdT F, ATFd H AATIA 3R
SCHATEST RrETE R | ot ot & s w2, 3R weEer FHe ¢ gel, a9 HONAT ATHA T
AR &Ml TcAYaR ) 37 R Y 9faaT & FoR JuEar &= gef, mﬁaéaataﬁwm e 3R
9T, enﬁaaﬁrammﬂzﬁsﬁazﬁwﬁmma,aﬁaﬁr&ar%wﬁ#wﬁwwwmm
AT F3|

39T ACHIT T YGHT AR S AT G HT 3 JdAB4:
YRS - FAGT F HJAR Tell aofert F4T =qd 372

1. T 3R Mo & HRoT

2.9 IR =T & PRI

3. &A1 3R IR & $ROT

4.9 3R &A1 & HROT

ol §6
el
g¢

Correct Answer :-

o BT 3R IR F PRI

16) FAET: IR TP ArEaT &1 3 gedm AR AR ¥, @ A wd wh aer A A 39 ver 5w
Tatar ¥ e oftw gedt uE, A € ool (qFe 3and §8) FT§ o, 3 u fed w1 ey @ A adt
as:rwm»—cm:r&vagamwﬁaam r-ﬂzasr’r wsﬁmaa?rmm#m|ﬂﬁv#ﬁﬂw
mmqﬂﬁm#ml (Rigraer ¥ gedl )

(Fa &1 379 91T F YA FHAT aTedF H g & AdT ?)

fad%: agd foet gu, @ A wgr a1 & HEN-HEN a9 R A9 A A FEr o1 B awrer § SR A anre a
TEAT| (STHT) FIAAT, 3TET AN qoreht o= 3, ﬁfr:rnaﬁarr-aﬂ go ohr gait i fiae s 7 dle T

(F1HaT e e ¥ fue s #)



faete: #fewr 3k @t & g@rr g @l F adia st fr e g8, 3k g8 o AR-EE A w@an @R
IR & TaT F Igaron | Rrar fr wlRwer, A F1 @, M FFGAT g7 AN Ag AT T
HNT &5 F WS AT FHE TS| FHAT, §7 F JFER AL B

faeme: wsorelt AN qor o &, s@r ¥ 1 g AT qU-ARA F NS T@R? 7@ St T A 2

frdw: @a o1 3t a0 & @I Ve WA AR FHA W e Rea sk Rraren i wfdewan, R sk @,
§eat IR gie, gad vw # Aasw daa f gag 1 g7 a6t ¢, @ a9wrar ¢ Rywar 1 fwwT gaeegl
as far geeR 3R FaT & Far Hol? §He FT FT HA AT GYAT FT A g IAT| ATSAAT H BT &
faw, g gt &1 awa FA F QAT T5T A IFarem @ 7 Weg WA A31E F GEAAT Tl Iraret Hir
GfSe g1 SUHT 3qAT TF A §M, 4 T§ 9T AU FH FIM- SAeTdl A, SAFA H HeATIA AR
JreATEer RaeT s aeft @ et iy A g, iR FwEe @A ave el a9 gedeT amEe & g
faifea g sreAvaR # 3@ e A 9fdenm F FR quwEd FE gef, B Ra v ik wes, e sk
varr, e 3R awE F dg Rele e e fea, snfa 3k o & auif & oo g vE AR Fer A
HfeTT Ham

3YYFA TCHYA T YGHT Al & AT G FT IR IABA:
Yo - 7§ Iehr hw e &1 §7

1. glelr

2. Piadr

3. dlch

4. 3018

Correct Answer :-

17) FHT IR Toh e &1 Y g R e #, ar F swet et aeen A€t et AN wer s
Ot @ foaar g gt 99, 3ae & el (FFe 3aRC g8) ¥g W, 39 g e #r aer 39 F ad
mmaﬂlmgmlwﬁ&emﬁw’r dle =, wmaﬁrmﬁaﬁlﬂﬁv#ﬁﬁw
aﬂﬁﬁﬁﬁ-aﬁaﬁrm#ml (g & gedt ?)

(f3= 1 379 H1T § YAA| FHAAT T H g H o ?)

fads: sga R v, Sq A FEr a1 BF A a9 G |9 ol @ Fer o B awrer § 3R A awrer @
AN (AEHT) FIHAT, HTET A qare w3, ﬁfr?ﬂaﬂarr-aa g atr gait r fiae s 7 e =@

(FeT glsa e @ fRAve s 8)

faete: afeRr 3R Faot & garr g Al & ade sl B gRe ¢f, 3R §F v ATy A T @R
FRYT F TorET B IadROT N Rar $ FRTOT, AT F =, %mmwm#aﬁmlaﬁ
HAT &3 F WHAS R FHET 39| FA, §H T qFER 91T g

faoma: wso=l dfFil o e ¥, (@ &1 w1 g AR Su-ARE F G g aw st = @w ¥

fads: @« a1 R Qe & Wl A T TR §HA 50 e Rea sk Rearear A sifdeman, Rar sk g7,
$eat 3R g, gaw v A A Faa A gag s 4 A1 8, @ od9rar ¢ favwar 1 e gaeeg|
aq faar greR 3R FeaT & FAT HoaT? gHA FT FA A AC| GYAT F i g IAT| AJsqam HY & F
faT, arerdt gl #1 goa A F AT ToT A FTAROT § AE; W IR HF A GEHAT FAT et
gfSe g1 SHHT 3GAT TF FHA M, S[G TE U AMMAca FH FM- SAeTcl H, AR H HeATTA AR
HTeAeTae RIGTHT R doft| s et 1 A g, 3w A e gef, a9 WEEHRT A T



IR gl rcAYaR Y 37 e v gfdem & FoRr qurar w3 g, B e v ik Aasy, e sk

9

o, anfla AR o w1 A% fele e e e, snfa sk g & quif & w@eo 9 & AYT Her w7
ATRAT F|

39T AGHIT T YGH AR B AT G HT IR TASA:
R - FAT fFE 90 ey w82

1. faetie &

2. CRIETRET &l

3. 7T HPe Bl

4. AT &Y

Correct Answer :-

18) HHAT: IR TorhT AT F1 7Y gaar i R &, @ & =u vl awenr 7€ aed AR wer sw
Taar ¥ fSaen oftw ged um, saar € oo (qFe 3andt §8) I§ N, W uv Red w1 der @ A ad
aﬁaﬂmlmgarrlwﬁaamﬁa’r a’tzasr’r wmﬁm#mlm#mm
a‘aﬁﬁﬁv‘rqﬂaﬁrm#mﬁl (Rigraer & gedl )

(Faa &1 379 A1T F YA FHAT aTedF H g & AdT ?)

CCEH agr-rﬁ?rgtr Sq At FeT o1 F HE-aEN a9 T wE A 7 Fer o1 F qerer § AR A qerer @
TAT| (ZGHT) FIAAT, 3TeT A Tarel w=hnl 3w, ﬁﬂ?ﬂaﬂarr-im g atr gail i fiae s 7 e =

(F197T lzwt e ¥ e s ¥)

fele: #fewr 3k @t & qErr g At F ader st fr gt g3, mﬁwmmﬁmlm
el & ST A aanon Y Rar #r alesr, AT F7 w, dver @1 Je g At A A W
FaRT &3 & WA AT FHET I39T| F1HAT, 7 |G JFoR AT ¢

froma: wso=ll AfSh g ol &, @r ¥ F1 gF A SRR F NS T? T st = A ¥

faw: @ a1 3k Ao & ®em AI o A FEAN 3H e Reg sk Rearen A sfdean, far sk g3,
$eX R Gite, gaF wF F B Ao A gEe T o e ¥, A worar ¢ Bwwrar F1 Bwww ggeea|
as far geeR 3R FaT & Far Holar? §HeT FT FA HA ATC| GYAT FT A g IAT| FATSAAT HY BT &
foT, arerdt gl #1 goe FA F AT ToT B FTAROT § AS; Weg IHA HF A GEHAT AT IrRret
qf?cgélsm?r:ﬂ'&waﬁmam ST 98 39T e FH FLA- SAdT F, ATFd H HATIA 3R
HTeAATa REHT A it s« sraRne’ $r @ e, sk s FHe ¢ gel, a9 HOEAT ATHA T
R &Rl TcAYaR & 37 R i 9faam & FoR duEar &= geft, ﬁmﬁ?réaawaﬁwm T 3R
9T, enﬁaaﬁtammﬂaﬁzhﬁawﬁmma,aﬁaﬁr&&r#wﬁ#ﬁwmwwmm
FfRTT F

39T I T YGHT A S AT G FT 3R I3
WA - T F HAR FER AR Faor F41 Heram?
1. 3cHTTH & HROT

2. TAvaHar & VAT geg & HRUT




3. AT 3R A & dROT
4. TARY IATAAT &P PROT

Correct Answer :-

o TAYHAAT & VAT geg & PRUT

19) FHAT: I TTHT AT F ¥ g 3R AR &, O & = T e A& T AN gen
Titar @ foaan ofiw gedt w, sae & el (qFe SaRd §8) ¥E A, 9 9 Red #1 & aw A
mwmlmasmwﬂaemm a’h—:asr’r TH SeaolT ) HAWHAT ¥ HEN AR @ R
aﬂaﬁamq&aﬁm#ml (Rigraer ¥ gedt )

(faa &1 379 91T F YA FHAT aTedF H g & AT §)

fads: agd foet gu, @ A wgr o1 T HEN-HE a9 gR @9 @l A Fer a1 B awrer § SR A anre a
IAT| (FGHT) FIHAT, 3ET A Gareh w=hNl 3w, ﬁfr?ﬂafrarr-aa g orr gait @ ofiae s F dle T

(FH=T gz fAas @ fue S )

faete: #fexr 3k @t & g@rr g @l F adia st fr e g8, 3k g8 o AR-EqE A wan g
IR & TAdT F Igaron | Rrar fr wlRwer, A F1 @, M F AT g7 AN A@ AT T
HNT &5 F WS AT FHE TS| FHAT, §7 F IR AL B

faeme: wsorelt AN qor o &, s@r ¥ 1 g AT AR F NS T@R? 7@ St FA A ¥?

frdw: @a o1 3t a0 & W Ve WA AR FHA W e Rea sk Rraren i wfdewan, Rar sk @,
$eat IR giee, gad vw # Aamw daa f gag 1 g7 ot ¢, @ T9rar ¢ Rywar 1 fwwT gaeegl
as far @R 3R FaT & Far Hol? §Her FT FT HA AT GYAT FT A g IAT| ATSAAT H BT &
foT, ot gt &1 gre Fa F AT ToT B IHTAROT @ AS; Weg IH T F GEHAT FANT et
GfSe g1 SUHT 3qAT TT A §1, 4 T§ 9T AMMAcT FH FIM- SfeTcl A, SAFA H HeATIA AR
e @t e At J squat f A g, R FHA: G ave gEh, a9 WueHT A '@
fRIfRT &Ml TcAYaR A 37 R Y wfae § FoR duEar = g, mﬁ?r%eawsﬁtm T 3R
5o, e 3R emEE P o R @it R Ried, sty 3 U F it @ waoe @t T AYT HET &
AHHTT FHM|

39gFd AT Y IGHFT A S AT G FT 3 IdA89:
yeeT - A% & AR & T FH T ST HT FIT IROTH g2

v M

1. U T HTcieh & T
2. & AT A o9
3.5 dIFAR g 9T

4, ATCHJMES AT & I=T

Correct Answer :-
o UR[AT T 3ATcdeh B AT

20) FH-T: I TR A F HY g AR AR §, O A qd e g A g AN e 3@
FRar & faen ofe gedt @, saar € reoTl (HFe 3ard §8) IE &), 59 9w REd Fww &gy g A ad



mwm|mgmcmaamm dle =, wm#mm#m|m#mw
aﬂaﬁaww‘rqﬂaﬁrm#m| (Rigraer ¥ gedt )

(Faa &1 379 91T F YA FHAT aTedF H g & AdT ?)

fad%: agd foet gu, @ A wgr a1 T HEN-HEN a9 g @9 Al A Fer a1 B awrer § SR A anre a
IAT| (FGHT) FIHAT, 3ET HY Gareh w=hN 3w, ﬁfr?ﬂafrarr-aa gA orr gait @ ofiae s 7 dle =T

(FrH=T gz fAas @ fdue S )

faete: afexr 3k @t & g@rr g @l F ada st fr e g8, 3R g8 o AR-EE A wan @R
IR & TAdT F Igaron | Rrar fr wlRwer, A &1 @, M F7 AT g7 AN A A@ AT T
HNT &5 F WS AT FHE TS| FHAT, §7 F IR AL B

faeme: wsorelt AN qor o &, s@r ¥ 1 g AT qU-ARA F NS T@R? 7@ St F A ¥?

frdw: @a a1 3t a0 & wam Ve WA AR FHA W e Rea sk Rraren # sfdewan R sk @,
§eat 3R giee, gad vw # Aasw daa f gag 1 g7 a6 ¢, @ T9rar ¢ Rywar 1 fvwy gaeegl
as far geeR 3R FaT & Far Hol? §He FT FT HA AT GYAT FT A g IAT| ATSAAT HY BT F
faw, g gt &1 awa FA@ F QAT T5T A IFaArRem @ 7 W WA A31E F GEAAT Tl Irawret Hir
GfSe g1 SUHT 3GAT TT A §1, 4 T§ IHUAT AMMAcT FH FIM- SfeTdl A, SAFA H HeATIA AR
JreATEer RaT s aeft @ et iy A g, iR FEe @A ave el a9 gedeT amEe & Y
faifea gl sreAvaR A 3@ e A 9fdenm F FR quEd FE gef, B Ra v ik wes, e sk
var, e 3R awE F dg el e e fea, snfa 3k o & auif & oo g vE AR Fer A
HfeTT Ham

3YYFA TCHYA T YGHT Al & AT JT FT IR IABA:
weeT - fAdF & IHTER gF FAI NPT T IAT?

1. TR 38 e o faw e

2. FITe 38 ART-UET 72|

3. Fifh 38 NIl el I

4. FIfP 3Q TS A& d11 147

Correct Answer :-

o Fifh 3T UTITST gl IAT|

21) AT I TP e FT 3 gaar iR R ¥ at F o el Seem At g 39 wer s«
T @ foaar oftg gt 9, 3aem & sl (ggwanﬁﬁ)wﬁ,wmﬁwmﬂymﬁaﬁ
az*-rwawmmgmlwﬁ&emﬁﬁ,maw,wmaﬁmﬁmmm#ﬁ%g
T Faoi-gar At orEr & e (R @ ged 8)

(3= 1 37A9 H1T & YAA| FHAAT T H g H o ?)

fads: sga R gv, Sq A FEr a1 BF A a9 G |9 ol @ Fer o B awrer § 3R A awrer @
AN (AEHT) FIHAT, HTET A qare w3, ﬁfr?ﬂaﬂarr-aa g avr gait @ fiae s 7 e =@

(FeT glsa e @ fRAve s 8)

faete: afeRr 3k Faot & garr g Al & ade sl B gRe gf, 3R §F v ATy A @ @R
as

&Y
Foryt & WSTET A EAROT Al Rar A wRewn, A 7o, B w7 AT §F A A Agh A=



HAT &3 F WHAG R FHET 93| FA, §H T qFER AT T
fReme: wso=lt Afwh g ol &, @r ¥ F1 qF AT GU-ARE F NS T? 7 st = A ¥

fa®: @ a1 3k @a & @M AW o A FEA 30 e R ik Rearen A sfdewan, far sk g,
$et R Gite, FaH! wF F A Ao A gEe T o S ¥, A worar ¢ RAwwrar F1 Awww gaeeg|
aq faar gErER 3R FaT F FAT HolaT? A FT FA A AC| GYAT F A g IAT| ATsqam HY & F
faT, arerdt gl #1 goe FA F AT ToT T FTAROT § AS; W IHAT HF A GEAAT AT et
W@lmmummm ST 98 YT SIfdcad FH FLA- SAAdT F, ATFd H AATIA 3R
SCHATEST RrETE R | ot ot & amn a2, 3R weEer FHe ¢ gel, a9 HOEAT ATHA T
AR &Ml TcAYaR # 37 R Y 9faaT & FoR JuEar =0 gef, mﬁaéaataﬁwm T 3R
9T, enﬁaaﬁrammﬂzﬁsﬁa@wﬁmma,aﬁaﬁr&ar%wﬁ#wﬁwwwmm
AT F3|

39T ACHIT T YGH AR S AT G FT 3R IAB4:

9o - Al & HTAR 3 ATAT FT FIT-HT I Tt AT AT?
1. gidner AR gfay

2. Al AR UHA H1

3.3537 3R W &1

4. T 3R 2frer ot

Correct Answer :-

. Tg AR M &

22) FHT I TFRE arEa 1 7Y gedr 3R reamaw ¥, ar f cudt weh awen ad g AN wer 5w
TR & e ofte gedt o, 3dar & IeoTl ([Fe AR §8) I® W, 39 9 Red 1 awr @ A ad
mwmlmaﬂnwﬁ&mﬁﬁr aﬂzar»r’r wm#m#mlm#mw
a‘aﬁaﬁv‘rqﬂfrmﬁmﬁl (Rigraer ¥ gedl )

(Faa &1 379 91T F YA FHAT aTedF H g & AdT 2)

fad%: agd foet gu, @ A wgr a1 & HEN-HEN a9 R @9 A A FEr o1 B awrer § SR A anre a
TEAT| (STHT) FIAAT, 3TeT AN qoreht o= 3, ﬁff:rnzr?rarr-aar gA ohr gait @ ofiae s 7 dle =T

(FrA=T glsa 9w @ fdue s )

faee: AR iR Taot & @ &7 el & ada st A gite g8, 3R g vE AR-EE A @ET AR
Faat 3 o A FTAROn F Rar A ARTol, AT B wE, Ao B I g o F ad A aa
FNRT &5 F WS AT FHE TS| FAT, §7 F JFER AL B

faeme: wsor=lt AN qor o &, @ ¥ =1 g AT SR F NS T@R? 7@ St F A ¥?

fd%: @« a1 3k AT @ WM AR It TR THIR| 39 favre favg s RvareAr A afdean, Rar sk 03,
$et 3R gite, FaHt wF F P Ao f gEe T o A ¥, A worar ¢ Bwwrar F1 Bwww gaeea|
as far geeR 3R FaT & Far Hol? §HeT FT FT HA AT GYAT FT A g IAT| ATSAAT HY BT &

foT, arerdt gl #1 gwe Fa F AT Uo7 F HTAROT @ AS; Weg IHA T F GEAAT AT IrRret
qfSe gé1 SHHT 3qAT TT A §M, 9 T€ IHUAT AMMAca FH FIM- SAeTcl A, AR H HeATIA AR

FreATEer RaTeT s aeft S st iy AT g, AR FEe: @ A el a9 gedeT are & g
foifea gl srewvar Y 3w Re @ ufdew F FoR que wEN g, e Rer Seaw 3k sy, wem 3k



o, e 3R amwE F dg Rehe e e fea, snfa sk o & auit & oo g vE AR Fer A
HfeTT Ham

3YYFA TCHYA T YGHT Al & AT YT FT IR JABA:
weeT - el & HFAR T &3 F A AT T G g3aIm?

1. 3golTel T HAADAT & BRUT

2. 8fA% W g & HROT

3. AICT-TAAT & a1 F A b HROT
4. el STl & PROT

Correct Answer :-

o HATAT-TUAT T a1d T AT &P BROT

23) FEET I TSR A FT IS gem AR reamEw ¥, ar F swdt et seen adt g A wer =@
Ot @ foaar oftg gt 9, 3aer & <ol (ggwanﬁﬁ)wﬁ,wmﬁwmﬂymﬁaﬁ
az*-rwawmmgmlwﬁ&emﬁﬁ,maw,wmaﬁmﬁmmm#ﬁ%g
T Faoi-gar At orEr F e (R @ ged 8)

(3= 1 379 H1T & YAA| FHAAT T H g H o ?)

fads: sga R gv, Sq A Fer a1 BF A a9 G |9 ol @ Fer o B awrer § 3R A anrer @
AN (AEHT) FIHAT, HTET AN qare w=h 3, ﬁfr?ﬂaﬂarr-aa g avr gait @ fiae s 7 e =@

(F1reT glsa e @ fRve s 8)

faete: afeRr 3k waot & garr g Al & ade sl B gRe ¢f, 3R §F v ATy A T @R
FRYT F TorET B IadReT N Rar $ FRTOT, A F =, %mmwm#aﬁmlaﬁ
HAT &3 F WHAS R FHET 39| FA, §H T qFER AT g

faoma: wso=l dfFwil o e ¥, (@ &1 w1 g AT SuARE F G g ag st = @w ¥

fads: @« a1 R Qe & Wl A T TR gHA 50 e Rea Ak Rearear A sifdeTan, Rar sk g7,
$eaY 3R g, gaw v & A Faa A gag s 4 A1 8, @ od9rar ¢ favwar 1 e gaeeg|
aq faar greR 3R FeaT & FAT HoaT? gHA FT FA A AC| GYAT F i g IAT| AJsqam HY & F
faT, arerdt gl &1 qoa Fa F AT ToT A FTAROT § AE; W IR HF A GEHAT FAT et
gfSe g1 SHHT 3GAT TF FH §M, S[G TE U AMMAca FH FM- SAeTcl H, AFd F HeATTA AR
HCHATEA R RS deh| o Rt f A e, sk we THA 7S gefl, a9 WOdAT e &g
kT gem| reAvaR Y 37 e v yfdam & FoR quwar FEAr gl mﬁ?réaataﬁzm e 3R
9T, enﬁaaﬁrammﬂzﬁzﬁazﬂwﬁvcﬁaa,aﬁaﬁr&ar%wﬁ#ﬁwmwwaﬁam
AT F|

39T AGHIT T YGH AR B AT G HT 3R IABA:
g - RAeE & HTER ST A Iadron FEa H?
1.9 3R &= A

2. AR I

3.AR UA &



4, TSI

Correct Answer :-

o THAN FUYT A

24) FH-T I IR arEa F1 3 gedr IR yeamaw ¥, ar f cud weh awen ad g AN wer 5w
TR & e oftw gedt o, 3dar & IeoTl ([Fe AR §8) I§ W, 39 9 Red # awr @ A ad
mwmlmaﬂnwﬁ&mﬁﬁr aﬂzar»r’r wm#m#mlm#mw
a‘aﬁaﬁv‘rqﬂfrmﬁmﬁl (Rigraer ¥ gedl )

(Fa &1 379 H1T F YA FHAT aTedF H g & AdT 2)

faa%: agd foet gu, @ A wgr a1 & HEN-HEN a9 R @9 A A FEr o1 B awrer § SR A anre a
TET| (STHT) FIAAT, 3TET AN qoreht o= 3, ﬁff:rnzr?rarr-aar go ohr gait i fiae s 7 dle T

(FrA=T glsa fAas @ fdue s )

faee: ART iR T@ot & @R &7 el & ada st A gite g8, 3R g vE AE-EE A @ET AR
Fawat 3 o A FTAROT H Rar A ARTol, AT B wE, Ao B IR g o o a@ A aw
FNRT &3 F WS AT FHE TS| FAT, §7 § IR AL B

faeme: wsorelt AN qor o &, @ ¥ =1 g AT SR F NS T@R? 7@ St FAT AT ¥?

fd%: @« a1 3k AT @ WM AW It TR TEIR| 39 fawre favg s RvareAr A wfderan, Rar sk 03,
$et 3R gite, TaH! wF F P Ao f gEe T o A ¥, R worar ¢ Bwwrar F1 Bwww gaeea|
as far geeR 3R FaT & Far Hola? §HeT FT FT HA AT GYAT FT A g IAT| ATSAAT H BT F
foT, et gl #1 gwe Fa F AT ToT B IHTAROT @ AS; Weg IA T F GEAAT FAdT IrRret
qfSe gé1 SUHT 3qAT TT A §M, 4 T€ IHUAT AMMAca FH FM- SfeTcl A, AFA F IeATIA AR
FreATEer RaeT s aeft S st iy AT g, AR FEe @A ave el a9 gedeT ame & Y
foifea gl srewvar Y 3w Rer A ufden F FoR que FEN g, e Rer Seaw 3k sy, wem 3k
o, anfla 3R arwe #1 A7 fe e fawe e, snfa 3k g & auif & waeo e & AT Her @
FfRTT F3|

3YYFA TEHYA Y YGHT Al & AT JeT FT IR IABA:

W - fFEd WHeT ¢ g W FaEAT A T fadfea g 2
1. TS URaR

2. R

3. Uy

4. g

Correct Answer :-
o AUY

25) FHAT: I TTHT AT &1 3T g 3N IR §, af F = el a9 AE TEd AN 9o 3w
T&ar § fSaen oftw gedt um, saar & o (A% Sand g8) e W, 7 o Red &1 e a9 A ad



mwm|mgmcmaamm dle =, wm#mm#m|m#mw
aﬂaﬁaww‘rqﬂaﬁrm#m| (Rigraer ¥ gedt )

(Faa &1 379 91T F YA FHAT aTedF H g & AdT ?)

fad%: agd foet gu, @ A wgr a1 T HEN-HEN a9 g @9 Al A Fer a1 B awrer § SR A anre a
IAT| (FGHT) FIHAT, 3ET HY Gareh w=hN 3w, ﬁfr?ﬂafrarr-aa gA orr gait @ ofiae s 7 dle =T

(FrH=T gz fAas @ fdue S )

faete: afexr 3k @t & g@rr g @l F ada st fr e g8, 3R g8 o AR-EE A wan @R
IR & TAdT F Igaron | Rrar fr wlRwer, A &1 @, M F7 AT g7 AN A A@ AT T
HNT &5 F WS AT FHE TS| FHAT, §7 F IR AL B

faeme: wsorelt AN qor o &, s@r ¥ 1 g AT qU-ARA F NS T@R? 7@ St F A ¥?

frdw: @a a1 3t a0 & wam Ve WA AR FHA W e Rea sk Rraren # sfdewan R sk @,
§eat 3R giee, gad vw # Aasw daa f gag 1 g7 a6 ¢, @ T9rar ¢ Rywar 1 fvwy gaeegl
as far geeR 3R FaT & Far Hol? §He FT FT HA AT GYAT FT A g IAT| ATSAAT HY BT F
faw, g gt &1 awa FA@ F QAT T5T A IFaArRem @ 7 W WA A31E F GEAAT Tl Irawret Hir
GfSe g1 SUHT 3GAT TT A §1, 4 T§ IHUAT AMMAcT FH FIM- SfeTdl A, SAFA H HeATIA AR
JreATEer RaT s aeft @ et iy A g, iR FEe @A ave el a9 gedeT amEe & Y
faifea gl sreAvaR A 3@ e A 9fdenm F FR quEd FE gef, B Ra v ik wes, e sk
var, e 3R awE F dg el e e fea, snfa 3k o & auif & oo g vE AR Fer A
HfeTT Ham

3YYFA TCHYA T YGHT Al & AT JT FT IR IABA:
W - YEqd Ay A fRifga @er & Fr arewd 87
1. 3R Bl

2. {HIIMER hem

3.8 gler

4, FT AT

Correct Answer :-

o Y QAT

26) AT IT TP e FT 3 gaar AR IR ¥t F s el Seem At g 39 wer s«
T @ foaar oftg gt 9, 3aem & sl (ggwanﬁﬁ)wﬁ,wmﬁwmﬂymﬁaﬁ
az*-rwawmmgmlwﬁ&emﬁﬁ,maw,wmaﬁmﬁmmm#ﬁ%g
T Faoi-gar At orEr & e (R @ ged 8)

(3= 1 37A9 H1T & YAA| FHAAT T H g H o ?)

fads: sga R gv, Sq A FEr a1 BF A a9 G |9 ol @ Fer o B awrer § 3R A awrer @
AN (AEHT) FIHAT, HTET A qare w3, ﬁfr?ﬂaﬂarr-aa g avr gait @ fiae s 7 e =@

(FeT glsa e @ fRAve s 8)

faete: afeRr 3k Faot & garr g Al & ade sl B gRe gf, 3R §F v ATy A @ @R
as

&Y
Foryt & WSTET A EAROT Al Rar A wRewn, A 7o, B w7 AT §F A A Agh A=



HAT &3 F WHAG R FHET 93| FA, §H T qFER AT T
fReme: wso=lt Afwh g ol &, @r ¥ F1 qF AT GU-ARE F NS T? 7 st = A ¥

fa®: @ a1 3k @a & @M AW o A FEA 30 e R ik Rearen A sfdewan, far sk g,
$et R Gite, FaH! wF F A Ao A gEe T o S ¥, A worar ¢ RAwwrar F1 Awww gaeeg|
aq faar gErER 3R FaT F FAT HolaT? A FT FA A AC| GYAT F A g IAT| ATsqam HY & F
faT, arerdt gl #1 goe FA F AT ToT T FTAROT § AS; W IHAT HF A GEAAT AT et
W@lmmummm ST 98 YT SIfdcad FH FLA- SAAdT F, ATFd H AATIA 3R
SCHATEST RrETE R | ot ot & amn a2, 3R weEer FHe ¢ gel, a9 HOEAT ATHA T
AR &Ml TcAYaR # 37 R Y 9faaT & FoR JuEar =0 gef, mﬁaéaataﬁwm T 3R
9T, enﬁaaﬁrammﬂzﬁsﬁa@wﬁmma,aﬁaﬁr&ar%wﬁ#wﬁwwwmm
AT F3|

39T ACHIT T YGH AR S AT G FT 3R IAB4:

W - WEIA A A RAHar F1 RwT q@egm @ FA acad g2
1. & & T ozar

2. {17 ST

3. ATCAT-TUAT T AT DHIAT

4. Mt AR HwoT

Correct Answer :-

o Tl & U osar

27) FH=T Iy TR amEa &1 Y gedr 3R yreamam ¥, ar f cudt weht awen ad g AN wer s
TR & e ofte gedt o, 3dar & IeoTl ([Fe AR §8) I® W, 39 9 Red 1 awr @ A ad
mwmlmaﬂnwﬁ&mﬁﬁr aﬂzar»r’r wm#m#mlm#mw
a‘aﬁaﬁv‘rqﬂfrmﬁmﬁl (Rigraer ¥ gedl )

(Faa &1 379 91T F YA FHAT aTedF H g & AdT 2)

fad%: agd foet gu, @ A wgr a1 & HEN-HEN a9 R @9 A A FEr o1 B awrer § SR A anre a
TEAT| (STHT) FIAAT, 3TeT AN qoreht o= 3, ﬁff:rnzr?rarr-aar gA ohr gait @ ofiae s 7 dle =T

(FrA=T glsa 9w @ fdue s )

faee: AR iR Taot & @ &7 el & ada st A gite g8, 3R g vE AR-EE A @ET AR
Faat 3 o A FTAROn F Rar A ARTol, AT B wE, Ao B I g o F ad A aa
FNRT &5 F WS AT FHE TS| FAT, §7 F JFER AL B

faeme: wsor=lt AN qor o &, @ ¥ =1 g AT SR F NS T@R? 7@ St F A ¥?

fd%: @« a1 3k AT @ WM AR It TR THIR| 39 favre favg s RvareAr A afdean, Rar sk 03,
$et 3R gite, FaHt wF F P Ao f gEe T o A ¥, A worar ¢ Bwwrar F1 Bwww gaeea|
as far geeR 3R FaT & Far Hol? §HeT FT FT HA AT GYAT FT A g IAT| ATSAAT HY BT &

foT, arerdt gl #1 gwe Fa F AT Uo7 F HTAROT @ AS; Weg IHA T F GEAAT AT IrRret
qfSe gé1 SHHT 3qAT TT A §M, 9 T€ IHUAT AMMAca FH FIM- SAeTcl A, AR H HeATIA AR

FreATEer RaTeT s aeft S st iy AT g, AR FEe: @ A el a9 gedeT are & g
foifea gl srewvar Y 3w Re @ ufdew F FoR que wEN g, e Rer Seaw 3k sy, wem 3k



vyar, e 3R awE F dg fele e e fea, snfa 3k o & auif & a5 g vE AYw s A
HfeTT HaM

3YYFA TSI T YGHT oAl & AT G FT IR IABA:
WS - WG AT A AT FT & FIT AT 872
1. 3547

2. TTHG

3.9 & Rifde

4. °lleld

Correct Answer :-

28) FHAT: I ToPT T FT I3 gaam AN R ¥, @ F s el S A€ aedh 38 ver sw
T @ foaar oftg gt 99, 3aer & <ol (ng)wm,wmﬁﬁmemﬁaﬁ
mwmlmgmlwaam,mw,wmﬁm#mlm#ﬁ%g
g Faoi-gar it srEr F e (e @ ged 8)

(f3% 1 37A9 H1T  YAA| FHAAT T H g A o ?)

fads: sga R gv, Sq #Ad Fer o1 BF A a9 G |9 ol @ Fer o B awrer § 3R A awrer @
AN (AEHT) FIHAT, HTET A qare w=h 3, ﬁfr?ﬂaﬁrarr-aa g1 avr gait dr fiae s 7 e =@

(F1eT glsa e @ fRve s 8)

faete: afeRr 3R Faob & garr g Al & ade sl B gRe §f, 3R g v ATy A @ @R
FRYT F TorET B IadROT N Rar $ GRTST, A F =, %mmwm#aﬁmlaﬁ
HAT &3 F WHAG R FHET 93| FA, §H qI JFER AT g

faoma: wso=il dfil o e ¥, (@ &1 F=T g AT qu-ARE F G g ag st = @w §7

fads: @« o1 R Qe & Wl A TN TR §HA 50 e Rea i Rearear A sfdean, Rar sk g7,
$ea¥ R YR, gaH v A A daa A gag T 4 A1 g, @ od9rar ¢ favwar 1 RvE gl
dq faar greR 3R FeT & FAT HoaT? g FT FA A AC| GYAT FT A g IAT| AJsqam HY & F
faT, arerdt gl &1 goe FA F AT ToT A FTAROT @ AG; W IR HE A GEAAT FAT et
gfSe g1 SHHT 3GART TF FHA M, S[G TE U AMMAca FA FM- SAeTcl H, AFd H HeATIA AR
m&mﬁwﬁmsﬁMmWﬁmaﬁvﬁ 3R Foer: WA A5 gHf, a9 WOdAT e w69
IR &Ml TcAYaR A 37 e Y gfae & FoR auEar = g, mﬁ?réaataﬁzm e 3R
v, anﬁ?raﬁrammﬁaﬁahamﬁﬂaﬁaa,aﬁaﬂré&r%aﬁ#ﬁwmwwmm
AT F3|

39T AGHIT T YGH AR & AT G HT 3R IASA:

weat - g1 a F adier st A gie fr FRol ¥ g6 32
1. 34X 3R g

2. T&T 3R A

3. AT 3R Fol




4. AFSTAT 3 HFelcl

Correct Answer :-

o AfRT IR T@ol

29) FHAT: AT TIPT ArET 1 3 g AR IR ¥, ar F wd Wl awer A A 39 ver s
TR & frdar ofie gedt o, 3da & IeoTl ([Fe AR §8) IE W, 39 9 Red w1 awr @ A ad
mﬁmlmiﬁmwﬁaamﬁr aﬂzar»r’r wm#m#mlm#mw
a‘aﬁaﬁv‘rqﬂfrmﬁml (Rigraer ¥ gedl )

(Faa &1 379 AT F Y| FHAT aTedF H g & AdT ?)

fad%: agd foet gu, @ A wgr a1 & HEN-HEN a9 R @9 A A FEr o1 B awrer § R A awre a
TEAT| (STHT) FIAAT, 3TET AN qoreht o= 3, ﬁfr:rnzr?rarr-%r gA ohr gait @ fiae s 7 dle =T

(FrA=T glea faaw @ fPue S §)

faee: RT3k Tt & @R &7 W & ada st A gite g8, IR §§ vE AR-EQE A @1 AR
yaat 3 o A FTAROT F Rar A Aol AT B wE, Ao B A g o F af A aw
FNRT &3 F WHAS AT FHE IS FAT, §7 § IR AT B

faeme: wsorelt AN dor o &, @ &1 71 g AT SR F NS T@R? 7@ St A A B2

fdw: @« a1 3k A7 @ WM JIR It TR THI| 39 fawe favg sk RvareAr A wfdean, Rar sk 03,
$et 3R Gite, gaH! wF F A o f gEe T o e ¥, A worar ¢ Bwwrar F1 Bwww gaeea|
as far geeR 3R FaT & Far Hola? §HeT FT F HA AT GYAT FT A &1 IAT| ATSAAT H BT &
foT, arerdt gl #1 qwe Fa F AT Uo7 F HTAROT @ AS; Weg IHH T F GEAAT AT et
GfSe g1 SHHT 3GAT TT T §M, SI4 T€ IHUAT AMMAca FH FAM- SfeTdl A, AFd H HcATIA AR
FreAArEe Raet s aeft S st @y A g, AR FEe @ ave el a9 gedeT ame &Y
foifea gl srewvar Y 3w Rer A afdew F FoR que FEN g, e Rer Seaw 3k aepsw, wem 3k
yarr, anfla iR arws F1 A7 fela e fawe Reg, snfa 3k g & quif & waeo e & AT Her #
fRTT F3|

39gFd AGHIT Y IGHT A S AT G FT 3o I8

wod - gEHAT A et Hr g Fradr ams F g8 22
1. 05T

2. 30T

3. 34

4. HAJSIAT

Correct Answer :-

30) g 9T F AT, gua & FRANAT |
T I feaT IR A, 13 W@ ST 11



313 7 Ba foee, e sor F s@ ot |
S T garw, e wadh Hr 7S 1

Fg AN s, 3 I8 @9 e dlaa |
uree AR foer o, Ted @@ & e |
A F AgH Wed W, & 7T a¢ F F |
& FT FfFe, aeg FA T R |

Ug Fot WA P, Ffhar 7 geraeT |

aF F TF W, T |G 7T I9E 1|

FF ARG HE, o1 & s A7 & |
R 7 & 7 F, Fe@ T Mew I F 1|
foe e St &, @ IS gsdrT |

FA e e, S # g d9 1

ST H A gu, R # A9 7 ud |

G U §AAT, -3 ARG 61 1|

e IR FRE, g@ o Td T e |
Tewd § o AR, fFar ot fer e
3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R IdA8:
W - FifFeT FEH FE FROT F Ferdh §7?
1. 3G &

2.3 &

3. 3@l &

4, 700 &

Correct Answer :-

. IO &

Topic:- Social Science (SSC)

1) Who said that, ‘But in the long run, it would be in the interest of all to forget that there is
anything like majority or minority in this country and that in India there is only one community’. /

o we1 {5, AP a1 waa o, g Yo wft & fia & ghw f 59 3z & agwa a1 seiers okt #is 9
2 3R YRa & bad TH TG ¢

1. Abdul Kalam Azad / 3fegdl hcdTH TSl



2. K. M. Munshi / &. @&, #ft
3. Ayyangar / 3TI9R
4, Sardar Vallabhai Patel / TR deddlS Ted

Correct Answer :-

o Sardar Vallabhai Patel / TRER doaldls o
2) The cycle of micro teaching is: / 3113'9!# afear (q&H fﬂ'&TUI') I Tsh %: -

1. Plan — Feedback — Teach — Re-feedback — Reteach / JNSTaT - Qﬁgfg — fregor — gﬁ:m -
geAfRTaTor

2. Teach — Feedback — Reteach — Plan — Re-feedback / T1870T — Qﬁ@ - gﬂf‘("r&:I'UT - 1T —
gFf: 9] iag E:

3. Plan — Teach - Feedback — Re-plan — Reteach / e - fRragor - uﬁg@ - Ezl'iﬂGFIT - g?r&f&rm

4. Teach — Reteach — Feedback — Re-feedback / TRI&UT - g?rfﬁf&rw — gfagfy -
g0y

Correct Answer :-

o Plan— Teach - Feedback — Re-plan — Reteach / TSI - fRr&f0T - m - W - m&‘m

3) Who is the exponent of Project method? / qRASET fafer &1 gfdues Fia g2
1. F. Froebel / UH. thidel

2. D.W. Allen / 1. 3ecg, Teldd

3. John Dewey / STfeT SIdr

4. W.H. Kilpatrick / 3eeg.vd. foherdices

Correct Answer :-
.« W.H. Kilpatrick / eeg.Ud. fherdfecsn

4) Which of the following discriminatory taxes did Emperor Akbar abolish in 1564 ? / 1564 &

FaAe IFR A famafaf@a & & frw dqemaget &7 A warca s Rar an
1. Kharaj / 9IRS

2. Zakat / SibId



3. None of the above/armjaaﬁ@rﬁé:lﬁf

4. Jizya | SIfomT
Correct Answer :-
. Jizya / Sfomn
5) Consider the following matches:
1. Ashtapradan Maratha Empire
2. AshtaDiggaja Vijavnagar Empire
3. Navaramma Harsha
4. Local Self Government | Chola

[ e A9 W R w3

1. Heequ TS HEHTT
2. FeerTA AT HHATTT
3. wated Gkl

4 TUFT @ @SR | O

1. Only 1,2 and 4 are correct / &ae 1,2 3R 4 @ §
2. Only 1 and 3 are correct / &ad 1 3R 3 & &
3.0nly 1,2 and 3/ &aar 1,2 31K 3

4, All are correct / Id T &

Correct Answer :-

« Only 1,2 and 4 are correct / &ad 1,2 3R 4 T &



Match the Following rulers with their capitals:

1. Maurva | A Mathura
2 Pallava B._Pataliputra
3. Chalukva | C. Kanchi

4 Kusana D). Badami

| TAITEd TS &l 3dchl UATAA!l o Gl fHed &
1. #@F | A AW
2. 9eold B_qmga’

3. =T C. ShI=r
4. uToT D. digHT

1. 1-A,2-B,3-C,4-D
2. 1-A,2-C,3-B,4-D
3. 1-B,2-C,3-D4-A
4. 1-C,2-B,3-D, 4-A

Correct Answer :-
« 1-B,2-C,3-D,4-A

7) is a scoring tool created for assessment of student’s performance in any area,
including curricular subjects, curricular activities, and social and personal qualities. /

_ et oft S d o & ueRA & srwad & e =T war whiT g 8, o ureusy faw,
TreaTat wash TRARRET ik Qe T safdmTe o aife 2

1. Rating Scale / {1 Fhet

2. Rubric / ®fgem

3. Credit Consideration /shfS¢ 32T
4. Excel / Tarer

Correct Answer :-

« Rubric / &fg®

8) The English East India Company was abolished in the year
o U H fear mar uti

1. 1859

2. 1860



3. 1858
4. 1867

Correct Answer :-

» 1858

9) The lowest level of learning in cognitive domain is: / JJHTHD A # Siftnm o1 fFrgaw @R %: -
1. Knowledge / <1
2. Understanding / HHASA

3. Creation / ol

4. Application / HWT

Correct Answer :-

o Knowledge / ST

10) People’s Plan was advocated by whom? / fiueq Tolel &1 gafela fhae q@rT &1 a5 o2
1. Mahatma Gandhi / FETcHT I

2. Narayan Agarwal / ARTIUT 3 Idlel

3. Jayaprakash Narayan / STOURIRN ARTIOT

4. M. N. Roy / UH. T. IT

Correct Answer :-

« M.N.Roy/T&d. od. T

11) Select the correct statement.

1.Champaran Satyagraha was the first Civil disobedience Movement under leadership of
Mahatma Gandhi.

2. This Satyagraha was against the exploitation of tenant farmers in North Bihar.
TE FYUT FT TYA HN.

1. IRV HATIE AFTeAT M & Aqded H ggelm WRAT e Q= il

2. I% AHE 3W R # FRReR fFaE! & aivor & f@ere gl



1. 1 and 2 both are correct / 1 3IR 2 ST el ©
2. 1 and 2 both are wrong / 1 3R 2 gI4T el &
3. Only 2 is correct / haol 2 Tel %
4, Only 1 is correct / hdol 1 TeT &

Correct Answer :-

« 1 and 2 both are correct / 1 3 2 AT Hff %\'

12) When was UN Commission on Human Rights established? / ¥JFd Ivg AafOsR 3mawr
FIIYT e 87

1. 1946
2. 1950
3. 1949

4, 1948

Correct Answer :-

« 1946

13) In which year was the Reserve Bank of India established? / R Rera d& 6 TATIT
fFg a¥ & Y 7€ oA

1. 1946
2. 1935
3. 1950

4, 1949

Correct Answer :-

e 1935

14) In 1837 who deciphered the brahmi script referring to ‘Devanam Piyadasi’ the epithet used

for celebrated monarch Ashoka? / 1837 ﬁ', ﬁFG’Iﬁ' CIRGIRGIR # T gaE 3w & v
gAler &Y € I e Ryl w1 34 [wrer?



1. None of the above / 3Udwh # & PIS el

2. Alexander Cunninghum / 3Teldroisl Hicad

3. James Prinsep / Si&d AT

4. V.A. Smith / d.T. &HY

Correct Answer :-

« James Prinsep / Sio® U@T

15) Who established Mukti Mission for young women in Pune? /g'@l' £ ) gﬂﬁ'ﬂ’l’ ¥ fav ﬂ'ﬁ-_cl'
e i TyIeT e 12

1. Jyotibha Phule / SZIHT Fol

2. Pandita Ramabai / Gf$dT umné

3. Ishwar Chandra Vidyasagar / $4R dg faamanmR
4. Savitri Phule / ETTET Fol

Correct Answer :-

« Pandita Ramabai / GfSc rmzné

16) Who has the power to dissolve the Lok Sabha even before the expiry of its term on the
recommendation of the Prime Minister? /

TeHAT F RAERT N FREFE AT g § Tga & A ) 6T 1 i afdad frasd a@ gt 8?2
1. President / Trgafa

2. Speaker / 31eg87

3. Cabinet / #AFHAS

4. Supreme Court / Falea =gramerd

Correct Answer :-

« President / Trgufa

17) Earlier Pallavas were feudatories of which dynasty? / Ugel Tedd & g & AT A?

1. Satavahanas / HIddlgd



2. Cholas / Tl
3. None / Eﬁé R

4, Kusanas / ?fEITUT

Correct Answer :-

o Satavahanas / HTddlige

18) Saptanga Theory of State was propounded by which of the following texts? / T &T
wearr Rguia Rrafaf@a & & e 7o q@rr vl fear o ar?

1. Rajtarangini / JoTaR (7O
2. Arthasastra / 3TIT&

3. Manyusmriti / ?F@"v?{ﬁ

4. Raghuvamsam / Tgaaw{

Correct Answer :-

« Arthasastra / 37Q&E

19) Under which Act of the Government of India the unfair trade practices are included? / ARd
&R ¥ 5w sffags & qga sgRa sauR gt # afdea B @

1. Money Laundering Act / el dlffeger sifafager
2. MRTP / THIRE

3. FEMA / a1

4. FERA / &1

Correct Answer :-

« MRTP / THAIREWY

20) Under which dynasty did the Mathura School of Art prosper? / & @ & dgd HYO
Foll faeaTey waey g3m?

1. Kusana / puTUT
2. Gupta / &



3. Sunga / QIJT

4. Maurya / ;T

Correct Answer :-

e Kusana / PUIUT

21) The individual has the right to approach the Supreme Court or High Courts for the

protection of his/her Fundamental Rights as they are ./
fordlt cafda #1 3w FAlfes ARAFRT N qRan F v Fafer e A1 3T FAEE A TgES HT
FIFR ¥ FIF gl

1. Accessible / 3
2. Justiciable / =arafRa
3. Justifiable / a&era
4. Affordable / agra

Correct Answer :-

« Justiciable / =ama=a

22) The formed as the basis of the Second Five Year Plan aimed at promoting regional

equality. / 81T FATTAT N To1AT A F 36427 ¥ AT T9aHT T & HUR W
&1 T5aT T aram|

1. Industrial Policy Resolution 1948 / e Nfa gwea 1948
2. Industrial Policy Resolution 1951 / 3itafaies FAifd dwed 1951
3. Industrial Policy Resolution 1956 / e Hfa gwea 1956
4. Industrial Policy Resolution 1977 / 3itafaes Aifad dweq 1977

Correct Answer :-

« Industrial Policy Resolution 1956 / s Aifa Iweu 1956

23) Which was the first state to adopt Panchayat Raj System in India? /
HRA # 99Id TS YOS HY AYA aTeT Ggell I HisT AT 4T?

1. Maharashtra / #gRTE



2. Madhya Pradesh / &% ueer
3. Rajasthan / {STEATA

4, Andhra Pradesh / 3% ueer

Correct Answer :-

« Rajasthan / TTEATA

24) Which is not a step in Discussion method? / farafaf@a & ¥ a1 ==t R{fY &1 v =or

TR §?

1. Allocating responsibilities for the conduct of a discussion / Teh UR=rdl & HaTel & forw
SFACIRAT &1 3mdea

2. Working together to find ways of solving the problem / FHEIT &I ol et th Al Wlolel o folT
fHCIRT BT AT

3. Locating and defining problem of common interest and significance / AT ¥ 3R FAgca &
HATIT T TdT 91T 3R g swear

4. Finding final solution for the problem / JHIT HT 3ifad g9 J1d HRAT

Correct Answer :-

« Finding final solution for the problem [/ JHIT HT ST g 1T HIAT

25) Which Veda contains Gayatri Mantra? / &% ag #A M A gATRRT 8§72

1. Sam Veda / HTH dg
2. Rig Veda / FIdg
3. Yajurveda / H@ﬁ?{

4. Atharva Veda / 3Uddg

Correct Answer :-

« Rig Veda /= 7de

26) Which is the most important primary source for the study of Indo Greeks? /

g3 gt & Irewya & fAv §a@ Agcaqet wafAw @a Fla @ 32

1. Monuments / TAR



2. Inscriptions / frerTer@
3. Coins / T8
4. Literary Texts / Olfelcdd TT

Correct Answer :-

« Coins / ek

27) Which of the following combination plays significant role in the increase of population /

frrafaf@a & & #la w1 FAeer sewEar # gefdr & Agcayer sfAwr femar @
1. Low Death Rate and High Birth rate / fae<1 #§cg &X 3R 39 Sled &
2. Low Death rate and Low Birth rate / &= HqHcYG T IR A Seda X
3. High Death rate and High Birth Rate / 3% #cg X 3R 3=d Sfed &
4. High Death rate and Low Birth rate / 3T Hcg &I IR A e R

Correct Answer :-

« Low Death Rate and High Birth rate / &&= A X 3R 3T Sed X

28) Which of the following is a brainstorming question? / fAFfaf@d & ¥ 309+ gﬂ:@' 9T Y

qgdT H<

1. What suggestions would you offer to protect forests in the country? / G H Il b T&IT & forw 3T
T G ST

2. Explain the concept of “Forests™? / “TaAl” & AR T TITEAT HY?
3. Give five uses of forests? / IaT e U ST IATT

4. Describe the forests of Madhya Pradesh? / 3 UERT o STl &bl gula &

Correct Answer :-

« What suggestions would you offer to protect forests in the country? / T 3 a1 &bt 38T & forw 3T
T GSTd Ga1?

29) Which of the following is not an objective of group discussion? / AT @T # & Fa1
gRerat aog &1 v 3T A B2

1. Promoting self-study / TI-31€ITA I I&TdT el




2. Encouraging creative thinking / Tdellcdch AT Bl WcHTRd HIAT
3. Stimulating reflective thinking / fid=1efter ia= & 3afard &
4, Testing previous knowledge/ ﬁ@ﬁ RIGKcd) Uﬁ&rUT DAl

Correct Answer :-

« Promoting self-study / TI-3€IT I TETAT el

30) Which of the following texts discuss paintings / murals? / /@& & & sla-ar I ==t /
R Ry i 99t Far 2

1. Vishnu dharmottara Purana only / hdel ﬁl’GUI YA gToT
2. All of these / 3UJh TH

3. Shilpa Sastra only / hael freur e

4. Kashyapa Shilpa Sastra only / hael RIq fRreur e

Correct Answer :-

« All of these / FEF’iFF T

31) Which of the following does not apply to a Social Science text book? / rafaf@adF I T
AT AT T U 6T TEa® 9T AT9] Te! s o7

1. It is a document to be memorized. / I& ITE, TWe! dATAT Uh STl &

2. It is an instructive document creating scope for further reading. / I Tch TAETIVG Gl © ST 31mar
UGl & I[SATSA UeT T &

3. It is perceived as a dynamic document. / 38 Teh ITTARMTel GEATAST & ®T H HATAT ST &

4. Tt is applied for the welfare of mankind or for the destruction of humanity. / I& HTd ST b
FHegT0T & forw IT AT & Ta=ATRr & forw ey foham Sar #

Correct Answer :-

« Itis a document to be memorized. / TE T {We dTAT Uh GEATAS ’g\'

32) Which of the following is the technique of collecting all sorts of necessary information about
a child with a view to studying and solving his deep-rooted problem? / U ST &Y gL HISeTS
g Fe 1 Feufar & waet 7 3w fawy & wsfh srforare gaan? vaa & & awells feafaf@a
AAFATE?



1. Case study / <ITh 3€TI

2. Experimental study / T9TTcHeD T

3. Qualitative study / I[UTTcHED FHETTA

4. Quasi experimental study / 379 UTAITATeh 31eTa

Correct Answer :-

« Case study / egTh 37¢Tg

33) White revolution is associated with JuRawfa @ gefaa g
1. Salt / dHA®

2. Sugar / @Y

3. Milk /g4

4, Rice / I1del

Correct Answer :-

34) Under which movement the rich landlords/farmers were asked to donate a piece of land to the
landless people? /

frer e & dga IR Fellert / frart 7t fAdier delt F ST 71 ooF S o A & AT Far
T °qr?

1. Bhoodan movement / gl 3ialclet

2. Cooperative movement / TERIRAT HTgielel
3. Consolidation of land / #f& T TehTeIoT
4, Chipko movement / fIge! 3ficreled

Correct Answer :-
 Bhoodan movement / gl 3Tiglelel

35) Choose the conventional sources of energy. / FT & YRURF Fal H AT

1. Natural gas / UTpfde 3
2. Solar energy / | Zatl



3. Bio-energy / St Fair

4. Wind energy / 9ael Sai

Correct Answer :-

« Natural gas / Uipfde 3T

36) Whose assent is necessary in the enactment of a bill into law? /
s #t w1 § s F@ § Fedh geafa sraeas @d 32
1. President / Trgufa

2. Supreme Court / 3TIdH I—ATAT

3. Prime Minister / TTAHIT

4, Parliament / §8<

Correct Answer :-
e President / Trgufd

37) Which Commission emphasized that for solving the diverse socio-cultural problems of the modern
world, social sciences have become a significant part of formal and non-formal education of the modern
world? /

e e & @ a@ W SR R & smyfaw gfaar A R amfos-argfos saent # g0 &= &
fore, snfas e smyfas gfaar i sitveRe sk sresitrafes fRam &1 ve Jgcaqet Rewr o = @2

1. University Grants Commission / fqfaarera 3reare 3manan
2. Delores Commission / SelRE 31T
3. National Knowledge Commission / ITERT ATl 3TANT

4, Commission on Higher Education / 3Ta {1 3maar

Correct Answer :-

e Delores Commission / el 3T

38) society is characterized as a male-dominated one. / AT F H9-gUE F w9 H Ry
R e g

1. Patriarchal / TO&dTcAS
2. Matriarchal / ATHATCHD



3. Familial / arRamiye

4, Gregarious /HgARY

Correct Answer :-

« Patriarchal / TUgHATCHD

39) The World Trade Organisation aims at ./ faeT MR HIST FT 3582 F gl
1. Encourage embargo / TITIR-UfAIY &l Uicdifed T

2. Promotion of imports / 3TTd &I deram el

3. Free trade / f&¥:eeh TR

4. Restrictive trade / ST SUTUR

Correct Answer :-

+ Free trade / T4:3[esh &MU

40) The Fundamental Rights in the Constitution were described as a pledge to our people and a pact
with the civilized world by .

afaure 7 #Afaw Rt EaRT WY gfadn & qry wHEglar AR gAR A F A gfawr F w0
# aftta fram

1. Dr. Rajendra Prasad / 3T. qSleg UdTG
2. Dr. S. Radhakrishnan / 21, TH. JYTHT0TA
3. T. T. Krishnamachari / €Y. &Y. $HSUrHaaRY

4, Sardar Vallabhai Patel / TR dod¥l HS TS

Correct Answer :-
e Dr. S. Radhakrishnan / 1. TH. JTYTHTUTA

41) An example of a meteorological instrument is: / aquvs?ﬁu SUDBRUT hT Th 3qIgrul
gl

1. Foot rule / $ IGRE:
2. Prismatic compass / TSI Haara

3. Tripod poles / TISUIS UreT
4. Centigrade thermometer / HEIAS AT



Correct Answer :-

« Centigrade thermometer / HCIIS AT

42) Who among the following built the Qutub Minar at Delhi? / féeei & ga AR &1 fAufor
frafefaa A A feaa smar e

1. Qutb-ud-din Aibak / $gs-3a-aH UgH
2. Akbar / 3/HaR
3. Shah Jahan / RITgwigl

4, Khizr Khan / fas @t

Correct Answer :-

« Qutb-ud-din Aibak / $Ia-3a-4I9 UadH

43) To teach a lesson on the boundaries of the country, states and districts, the teacher uses
which of following maps? / 91, I 3R foral &t AT iR T ute Ue[ & forg, Rge g A
o arafE &1 SuahT Hvar 82

1. Physical maps / Hifde F=

2. Relief maps / 3TdTdd ATAT

3. Specialized maps / T AR

4. Political maps / TSIl [cleh HATATIT

Correct Answer :-

« Political maps / TS T ATATIA

44) Which of the following statements cannot be considered a characteristic of learning? /

fAmfaf@a & & e Faa F 3o i [var 7@ A= s Fwar 2

1. Learning is limited to educational institutions. / 37Tera QAeTiOTer TEATAT deop AT %I

2. Learning is a lifelong process. / 3TTQ9TH Teh 3Tl UTehaT el

3. Learning influences all aspects of behaviour. / 3TTITH cTaeR & THT CI%T:B—ﬁ DI THTTIT HIAT & |

4. Learning depends on physical growth and mental maturity. / 31977 QMR Tadmra IR AARES
aRueradr IR fAeR e |

Correct Answer :-



« Learning is limited to educational institutions. / 37TerH QAeTiOTer TEATAT g AT %I

45) The loan facility provided to the farmers for the development of agriculture is known as ./

F & Rew & v Fae! s yeae § J@ arel 7or glau # ¥ w9 # AT A T
1. Rural loanable funds / Im#ioT FoT AT HIY

2. Rural credit / TIT#IoT 0T

3. Rural development / Jmafror fera

4, Rural advance / Jmefior 37fa

Correct Answer :-
o Rural credit / ITHOT FoT

46) Which among the following soil type has a property of holding moisture for the release of
plants during the dry period? / FafafEa # @ g frdl & yoR A I @l & SR MY &
forfus & forg amsdan «RoT w5 &1 qure giar 82

1. Lateritic / ?ﬁ?‘l’f’{c‘f
2. Red / ©lfel

3. Black / @TelT

4. Alluvial / STell&

Correct Answer :-

« Black / &Tell

47) The students ability to organize, integrate, synthesize and evaluate knowledge is known
through which of the following types of test? / BT & JH & YHARUd, THIPHd, WA 3R
qeifed B3 3t gigar FEfafad F 59 yoR & wiienr & ureay I 99 ot 9 82

1. Objective Type / 3%T UHR
2. Short Answer Type / ©f 30X UhR

3. Multiple Choice Type / El'g'ﬁlﬁd’f ISEAIES

4. Essay Type / IGELRCCEY

Correct Answer :-

« Essay Type / fad4 yoR



48) The step that is not a part of project method is: / a8 XI5l gf¥arerT fAft &1 fgwar g :
1. Selection of capital / TETUAT BT TIA

2. Executing the project / TRITSTAT &l fAvUTic T eha

3. Providing situation / AT UTeT AT

4. Evaluation of the project / OIS &l HedTh

Correct Answer :-

« Selection of capital / TETUAT T TTA

49) A famous palaeontological hoax related to the finding of the remains of a previously
unknown early human known as Piltdown Man was found in which of the following

countries? / fAESST A9 & ®U & W1 WF 914 Ugd T YRIHS AT & a=iul ) Wil
Tefa v ulig ShaifRae i gied (da=< arsied ae) fFafafad & 9 fea 32 & uran war 4r?

1. France / I
2. Australia / 3T ToraT

3. England / 37613
4. Germany / ST

Correct Answer :-

. England/ &3cl8

50) The learning strategy that helps the leaner to gain from each other’s effort is: / ST

Yo oY Rreneff #t tew gk & Ta @ a1 U B | e el o
1. Brain storming / m (1T Hﬁﬁﬂ)

2. Case study / g 7¢I

3. Experiential learning / STa1f3Tep 31farar

4. Cooperative learning / T&A191 3TAITH

Correct Answer :-

« Cooperative learning / Tgd1oft 37TQITH

51) What is the upper limit of the Richter scale? / Rae TuR &} Hudt Har 1 32



1.9

2. 10
3. No Upper limit/aﬂé U e A9 §

4.8

Correct Answer :-

« No Upper limit / P1$ FUI HAT 8l &

52) The process of collecting data on student performance that is used to
evaluate the attainment of certain expectation, objectives or outcomes is known
as: /

BT F UG W ST ThT H1 D1 98 Ufehar RrasT SualT oo 3rder, Ig=al a1 ufumal
) I & qeaic ¥ e fsar wirar 8, 98 Seardl &

1. Evaluating / EFJ\FQTI?-W

2. Assessment / 3TTeholel
3. Scoring / Y'Y a
4. Rating / qrgar fAyfRor

Correct Answer :-

 Assessment / 3TeholeT

53) The Woods dispatch of 1854 is related to which of the following? / 1854 T qs &l BILMIEES
(F3w fFeta) famafafea & & fraw wafa 82

1. Introduction of Railways / YoTd &l URFH
2. Introduction of English Education in India / #Rd & 37l fA&m &1 uRFH
3. Introduction of the Postal Services / 3Tch HaTHT P TRFH

4. Setting up of Universities in India / AR & Taafaareral $r Tamgar

Correct Answer :-

« Setting up of Universities in India / ART #H Taafaarerar & Tamgar

54) IPCC is a body to examine climate change. What is the full-form of IPCC? / 3Sdiid
Seary aRads # ST+ & v o @ g1 Sl w1 oqob v = @2



1. Intergovernmental panel on climate change / 3 cWTddHe Uadl 3T Fasde ol

2. International Panel on Climate change / c{aQldel U 3 FTSHE ol

3. International platform for climate change study / Se{aATTol TIThid B FellsHC dol Feal
4. Inter-panel on climate change / se-Uaa AT FABAC ool

Correct Answer :-

« Intergovernmental panel on climate change / Wﬁ'ﬁl—c‘ﬂ et 3 FoTSHT ol
55) Who named the Gulf Stream? / 6% TIH &I ATH Faa 1@1?

1. Benjamin Franklin / SSTfaer Shepfor

2. Juan Ponce de Leon / S[31TeT uig 31 o

3. Columbus / Preiad

4. Thomas cook / aTHI b

Correct Answer :-

« Benjamin Franklin / denfaa thefore

56) Which of the following causes Normal Faults? / fR&afaf@d & & FaF RO aH=
Bioe (379) 8l &2

1. Compressional force / HUI5<T ol

2. Vertical Movement / H%aT¢R Tt

3. Horizontal Displacement / &fcrsT faeamaa
4, Tensional force / dATd-doT

Correct Answer :-

« Tensional force / dATd-dol

57) Which of the following is an example of renewable energy? / fAFfaf@d & & =l &1
HTT FAT (AHIONT FAT) FT Th 3SEI0T 82

1. Petroleum / USIforgal
2. Coal / &Il



3. Natural Gas / CI'I?L‘Tﬁ?F» Elps)

4. Solar Energy / IR e

Correct Answer :-

« Solar Energy / Rk sar

58) Almost all of Iron Ore Production of India is confined to which among the following five
states of India? /

HRT & T wt g 3AFF 3cuee PrAfaf@d # ¥ 9RT ¥ FiF ¥ o Ut g g €

1. Odisha, Karnataka, Chhattisgarh, West Bengal and Uttar Pradesh / 3if2m, watesd, odaere, uffe
ae 3R 3T UGer

2. Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 30f32m, &aTee, axierg, Mar AR ARES

3. Odisha, Karnataka, Chhattisgarh, Madhya Pradesh & Jharkhand / 301f32m, eied, ST, ALAUC
3R FIREs

4. Odisha, Madhya Pradesh, Chhattisgarh, Andhra Pradesh and Tamil Nadu / 3032, #3€I0cer, A9,
3y weer 3R afdreErg

Correct Answer :-

« Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 31if32rm, Setees, SreTe, ar 3R sREs

59) What is the name of the world’s first Greenhouse Gases Observing Satellite launched by

Japan in 2009? / 2009 ¥ JATIT gaRT YR fT aC A2q & vger daezw A radtaa
3YAE FT ATH T g7

1. Tadami / dITGTHT

2. Akatsuki / 3TehTcgeht
3. Ibuki / ST

4. Hayabusa / &rATAT

Correct Answer :-

60) Which among the following bodies received Nobel prize for peace for their efforts to build
up and disseminate greater knowledge about man-made climate change, and to lay the
foundations for the measures that are needed to counteract such change? / R@aT s @



frw T & we A Soag aieds & TR & 3fF & sfds 7@ & o sk

yaR F AT F @y, 3k 59 g & Rada 1 9fasR A & v 3maegs gt i
dig W@ & fAT aer oaifd R gred fFar?

1. IPCC

2. UNEP

3. UNDP

4. UNFCCC

Correct Answer :-

« [PCC



